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[ x].{ %}

[ X] n!

§1

(1)



A( ) a b b

bla,c|b c|a.

bl a,c| b a, b
a=ab, b=hbc
a=(a h)c,
, Cl|la
2 a, b m , atx b
b m

3 &, &, , m
Gatgat+t +ga M

4( ) a, b

a=bg+r,0s r<b

y 4,

1qn

b>0,

(2)



, -3b, - 2b, - b,0,b,2Db,3b,

gh<s a<(g+1)b
a- gb=r, a=bg+r, 0O0<r<b.
q, r . q, N
a=bg+r,0< rn<bh,
bq + rn=bg+r,
b(g- q)=r-r,
blg- al=]rn-r|.
ron b ,
F G 2 b. - q= Q.
: 4
4
(2) q a b
b=15, a=255
a=17b+0,r=0<15, q=17;
a=417
a=27b+12,0<r=12<15, (q=27;

=-81

(2)

a= -6b+9,0<r=9<15, q=-6.



2. 3|n(n+1)(2n+1), n
3. ax, + by, ax+ by( x,y) a, b
) :
(axo + byo) | (ax + by),
X,y
4. a,b bz 0, S, t
a=bs+t,|t|sj7bl
b .S, t . b ?
8§ 2
&, &, ,an n(n= 2) d
, d &, &, ,a
&, &, ,a ,
(au, &, ,a&), (&, &, ,a&)=1, &, &, , o
, &, &, ;
, &, &, ,a , (&, &, ,a&)=1,
( ), &, &, ,o
, (&, &, ,a)
1 &, &, ,a n ,
() a, &, ,a |al |la&|, ,|a&] :
(i) (a, &, ,a)=(al lal, . la&l]).
d a,a, ,a dla,i=1,



2, ., n, dfal,i=1,2, ,n, d Jal,la], ,|a&]|

, Jal, lal, lal
a, &, ,a LA, &, e |al,]|a&l,
| & | (1) . (1) (i) .
1 (i) :
2 b , (i)0 b b
b 0O b (i1)(0,b)=Db.
0O b b :
0 , b 0, b : (i)
; b b; 0,b b
, (0,b)=b.
1,2
2.1 b , (0,b)=]b].
3 a,b,c 0 :
a=bg+ c,
q : a,b b,c , (a, b)
=(b,c) .
d a,b , ,dla,d|b. 8§81
3,d c=a+(-9)b : d b,c
, b, C a, b
a, b , ,
2.1 2 1



a=bqg +r,0<r <hb,

b: I‘1C]2+ r2,0< r < M,

(1)
rn-2=rn-lq‘|+rn,o< rn<l’n.1,
rn-1= rnqn+1 + rn+1, rn+1=0.
, , b ,
b
rhe1 =0 (1) :
4 a, b , (a, b (1)
, (a,b)y=r.
2,3
rn :(O, rn):(rn+1, rn)
=(rn, rn—1)=
=(r,,b)=(a,b).
M ,
2,3 (1)
4.1 a,b (a, b) (
: , a, b ,
(a, b) , a, b
, ab (1)
1 a= - 1859, b= 1573, 1, ( - 1859, 1573) =



(1859, 1573) .

|a| =1859 | 1573= b 1859=1x 1573 + 286
1573 | 1=q  1573=5x 286+ 143

1573 | 286=r, 286 = 2x 143
1430 | 5= @, ( - 1859,1573) =143 .
286 | 143 =,
286 | 2=
0=rs
2 a=169, b=121.
169 121 169 =1x 121 + 48
121 1 121 =2x 48+ 25
121 48 48=1x 25+ 23
96 2 25=1x 23 +2
48 25 23=11x 2+1
25 1 2=2x1
25 23 (169,121) =1 .
23 1
23 2
22 11
2 1
2 2
0



(am,bm)=(a,b) m.

. a b a, b
(i) o a, b : 55 =£Wz,
(a5 (2B ~1
a,b : : a,b
(1) 1,(am,bm) =([a|l m,|b|lm),(a, b) m=(]al,
|b]) m. a, b . (1)
m,

am=(bm)g. + rr m,0< r, m< bm,

bm=(rnrmag+rrmO0<rm<r m,

fri-aM=(ram) Ch+1 .

4 (am,bm)=r.m=(a,b) m, (i)
(i) (i) 1,
a b _ lal 5, 1bl _ _
6!6 |6|_ |6||6|’|6||6| —(lal,lbl)—(a,b),
a b _(ab)
5’'d o]
_ a b _
5=(a, b , o an -1
1 2
&, &, y & n .
(a1,3e)=d2,(d2,aa)=d3, ;(dn—lya“)zd“' (2)
6 &, & a n (a, & an) =



(2),dn|an,dn|dn—1- dn—llan—l,dn—lldn—21

dnlan-l,dnldn-Z- ’ dnl aﬂ1 dnlan-11 ’
dja, & a,a, ,a : d a,a, ,
a, . d|a,d|a, 4.1, d| ds,
4.1,d| ds, , d| dn. d< |d|< d . dn
al,&, 1an

1 4.1

2. 81 3 (a, b) = axo + by, axo + byo ax +
by( x,y ) n

3 §1 4

(76501,9719) .

2logb
4. (D n< log2

§ 3

(1) r ab

, ab
a=bg+ r,0<r<hb,

b=rg+r,0<r<r,

(1)

Me-1= ICk+1 + Mrev1,0< res1 < re,

fh-1= MGh+a -



1 a, b ;
Qa- Pb=(-1)""r, k=1, ,n; (2)

PP=1,P.=q, Pk= qPx-1 + P«. 2,
Q=0,Q =1, Q= GQu-2 + Qu-2,
k=1 ,(2) , k=2
r=-[ag- b(l+aqq)] .
1+¢=¢PR+ P, =04 1+0=0¢Q + Q,
Qa- Pb=(-1)"""rn,P.=gP+ P, Q=0 Q + Q .
(2),(3) k> 2
(- D)fer = (- 1) (Nt - Gor i)
=(Qwia- Pcib) + g« ( Qa - Pb)
= (g1 Q + Q1)a- (g1 Pc+ Pei)b.
Qui1a- Puib=(-1)n.1,
Per1 = Qo1 Pet Peony Qer = Qeer Qe Qi n

11 a, b ,

S, t
as+ bt=(a, b) . (4)
2 a,b,c , (a,c)=1,
(i)ab,c b, c ,
(ii) (ab,c)=(b,c), (5)
b, c :
(i) 11, st
as+ct=1.
b,

(ab)s+ c(bt) = b.
10 -



b,

ab,

d ab ¢ : §1 3, dj
d b,c b, c
(1) :
(i) b, c , (b, 0 (i)
(ab, c)
(ab,c) = (b, c)
21 (a,c)=1,clab, <c|b.
2 82 2,3
| c|= (ab,c) = (b, ),
| c||b, clb.
22 &,&, ,a b,b, b
a &
hb b
2,
(xa a&,h) =(aa ab)
= =(a,h)=1,j=1,2, ,m.
2,
(@ a,bb b)) =(aa a,bb b))
= =(aw& a,bs) =1.
&, & a n(n= 2) d n
d n i, a,
[ &, &,
a]
0
3 [a,&, ,al=[lal,lal, la]l]

11 -

C



a,

4 a, b

(ia, b
[ a, b] (i) a, b
[ a, b] = (a"’}bb) |
(a,b)=1, [a,b]=a b.
m a b .
m = ak= bK .
a=a(a,b),b=hb(a,b),
ak=hK .
8 2 5 (a, ) =1, 21, k.
_ _ _ab
rn—ak—ablt—(a’b)t, (6)
- _ab
t k=ht t (a,b)t
b (6) a, b t=1
_ab
[a’b]_(a,b)'
(i) (6),(i)
A, Ao, , Gn n

[a, &] = M, [ M, &]

12 -

:n131
a, &, ,a n(nz2)
[a, &, ,a&]=m.

(7)), m | m..,i=2,3,

1n-11

,[rnn-l,an] = m, . (7)

al| m,al|l m,



1=2,3, ,n, m, &, &, ,a : : m

&, &, ,an : a|lm, &l m, 4(1i),
m|m. &]|m, 4(1) mg| m.
m,| m. m< | m| .
m=la, &, ,a].
3,4,5

P(x) = aX' + a:1X + +ax+a,az 0, (8)

n &, &, |, a ( ),
n .
P(x), M(x) , P(x)
M( x), Q( x), R(x)
P(x) = Q(x) M(x) + R(x), (9)
R( x) M (x) : Q(x) R(x)

M(X) = b.x" + +bx+h,b # 0,

P(X) - X "M(X)( Pi(X))
n-1, P(x):bix“'”‘M(x)+ P (x) .
P.(X), M(),

(9)

13 -



a, b

as+ bt=1.

ax"+ a.  X"t+ o+

S, ay

§4

a X+t g

(1)

S,

(10)



a : a= & q, a >1, a : q
a 1 : qsal,qzs gu=a, ¢0g< a.
2 P , & , a P Y
a
(p.a)|p.(p,a)>0, ,(p,a)=1,
(p,a)=p. (p,a)=1 pla.
2.1 a, &, , & n . P
plaa a, Pp a .
a, &, ,a p , 2
(p,a)=1,i=1,2, ,n.
§ 3 22, (p,aa a)=1, plaa a :
3( ) 1
; 1
a= pp p,ps Ps S Pn, (1)
P, Py, P ;
a= % On,hs = S O,
G, %, ,0On : m=n,g=p,i=1,2, ,n.
(1) .oa=2 (1)
a (1) : a
(1) a , a : bc
a=bc,l1<b< al<cx< a.
b=p:p. pi,c=pPiipPiez P,
a=pp. PP P
P (1) . (1) a

1 (1)
15 -



a= GG Gn, < GS < Gn,

PP Ph=0GCG On. (2)
Pl O, G|l PP P 2.1, p,Gq,
plg, dlp. G, p , P=0,G=pP. P P, G
2 G,
G=p< pc= G, pp=0¢ = G .
(2) p pP=G O, P: = . :
n=m,p=g9q,1=1,2, ,n.
3
31 1 a
a=p! p&so>0,i=1, Kk, (3)
p<p(i<j) .
(3) a : , :
a .

; d ,d a
dla, a=dq, 3.1 a
d p(j=1,2, k)
pd B a, Bis q;
Bi<a; ,d a
32
33 a, b ;

a= pip? p&o= 0,i=1,2, Kk,
16 -



(a1 b) = dll py22 dkkv

[a,b] = prp2  ps, (4)
yi=min(ai,Bi),d =max(a:,Bi),i1=1,2, ,k(
), min(a;,B) ai,Bi , max(a;,Bi) ai, B
( ) :
N, N
N
1,2,3,4, ,N.
1, 2, :
1,2,3,4,5,6,7,8,9,10, ,N.
, 2 ; 2 ,
1,2,3,4,5,6,7,8,9,10, ,N.
3, 2 : :
3 : 3+3m(m=1,
), 3 (3 ):
1,2,3,4,5,6,7,8,9,10, ,N.
5, (2 3) :
, b 5-1=4 :
5+5m(m=1,2, ), 5 (5 ):

1121314151-6171-81-91101111 ’ N .
17 -



( Eratost henes) :

N : 1, N
, N
N
: N =30 :
30<6 .
30 2,3,5,7,11,13,17,19, 23,29 .
4
, PP, P PP pt1=N, N>1. 1,
N P . pz p,i=1,2, ,Kk, plpp P,
: , 90 ,

18 -



: 100 :

Fo F : Fr
Fs : 641,
Fs Fos : Fas
tFa ,
n n
> 3 n :
(Mersenne) M,=2"-1(n=1,2, )
n , My
n=2,3,5,7 , M, : 11 n,
M. , 1994 :
Masgazs .
( : a
2" Mo (M, ) (
§9).

1. 100 :

2. 82798848 81 057 226 635 000

3. 3.3 n

4. 3.3 §3 A(ii) .

5. 2"+1 (n>1), n 2

§5 [ x].{x}

Fo=2" +1(m=1,2, )

19 -



[ x]

{x} .
[ x] {x} :
[ X] X ; { x} X-[X].
[ X] X A x} X .
m] =3,[e] =2,[ -] = - 4, % =0, % =1

% =%,{n}=0-14159 {2} =0.414

{-m}=1-0.14159 =0.958 40

x=[x]+{x} .

[ X]< x<[x]+1,x-1<[Xx]g x,0{x}<1.
[N+ X] =n+[Xx],n

[x] +[yls [ x+y]l.{x} +{y}=2 { x+y}.

-[x] -1, x
[ - X] =

[ X] X :
( ) ab . b>0,

_ a a a
a—bb+bb,0sbbsb1
a, b a b

a
b
a<b .m a b

O< m=bm< a,

0< ms< —E‘ . (1)

m (1) my
. 20



o o

n ~ n
+ 2+ = ~ . 2
0 le (2)

1) ln 1)
, h n-1 p : P
n (1< r),
h=m+2n +3n +
=m+nmn+n+ +
n + n; + +
n + +
=N+ N+ Ns +
Ne =N+ n..+ 2, ,n n-1 P
1Nr:_r:1
P
h= — + 9 + 4 &+
P p p
_ S o
nl_Dprzlp ’
ﬂ n
_ n! 0< k<
Kl (n- k) ( n) -
n=(n- k) + Kk,
n hn- k K
T2 r + rooy
P Y Y

21 -



1 k! (n-KkK)!|nl
3 f(x) n , ﬁk)(X)
£ ( x
(ks ny, =L 0ok
(k)
fkglx} - K |
f(x) = ax"+ a.. X'+ + ax+ a,
9%
k| X
(k+ i)(k+i-1) (i+1) _ (k+ i)
b
= B k! T AT
.I:(k)
2 b , JK,—)Q
n!
Kl (n- k) !
(1261
1
1 1
1 2 1
1 3 3 1
1 4 6 4 1
1 5 10 10 5 1
1 6 15 20 15 6 1

22 -

00

n
:il p > zil p

||M 8

[] pZ: ¢ |[] pZ

p'

k
* 251 p

)

260



, Pascal (1654 ) 400

1. 30!
2. n a
(i) ML =qa);

(i) [a] + a+in P L
3. ao,p : :
(D[a] -[B] =[a-B] [a-B]+1;

(iN[2a] + [B]=z [a] + [a+B]+[B] .
4.(1) f( ) Q< x< R

QZK R[ f(1)]

Q< xx R,0<y< f(Xx) (
(i) p.q
b g, _p-1 g-1
X + y = . .
0<2<§- q 0<y<-2E p 2 2
(i) r>0,T X +y< r
r
T=1+4[r] +8 N -
[r] O<Z,é_r r* - X >
2
(iv) n>0,T x>0,y>0, xys n
n 2
T_20<xz<n X - &
5. n
N=a+ap+tap+ ,p ,0< a<p,
n! p
_n- S
h = 0-1°

S=atatat



X, Y, Z ,
1_ _
5x+3y+§z— 100,
Xx+y+ z=100.
Zl )
/X +4y = 100 .
ax + by = c,
a, b,c

24 .



§1

1
ax+ by = ¢ (1)
( a, b, c , a,b 0) X= X, Y=
Yo (a,b)=d,a=ad, b=hd, (1)
X= % -hbty=yw+at, (2)
t=0,+ 1,+ 2,
X, Yo (1) : ax, + by, = .
a(% - bht)+ b(yo+ at) =c+(ba - ab)t = c.
t((2) (1)
X,y (1) , axX + by =c, axo +
by, = c,
a(X - %)+ Db(y - w) =0.
a=ad, b=hbd
a(X - %) =-hb(y - w).
d=(a,b), (a,b)=1. 8§ 3 2.1,
t Y - Vo= at, Y =W%t+tat. VY X
=% - bt. X,y (2) . (2) (1)
1 , (1)
(2) : (1)
(1) :
2 (1) (a,b)|c.

25 -



(1) ’ XO,yO,
axo + by = cC.

(a, b) a b, C,
, (a,b)]|c, c=aGg(a,b),ca
1.1, S, t
as+ bt = (a,b).
X = i, Yo = tG, axo+ byy=1c, (1)
, (1)
2 ) )

a b _
(@b " an? !

’ 1 X’y

ax + by =1,(a,b) =1

: , (3)

lal x+[bly=1 ,

: a>0,b>0. ,
a=bag+r,0< nn <hbhb,

b=ng+r,0<r1 < I,

-2 = TG+ 1,0 < 1y < Fooygy,
Fno1 = FoCher -
(a,b)=1, r,=1, 8§ 3 1,
26 -

§ 3

(3)



Qa- Pb=(-1""r..
a[(-1)"" Q] +b[(-1)'P] =1.

(3)
X=(-1)""Q,y=(-1)Pn. (4)
8§ 3 1
P, =1, P = ) P« = kP« Pe-2,
N A i k=2, ,n.(5
Q@ =0, Q =1, Q= Q«:+ Q-2,
(5) (4) ( (3 )
G,Q, ., O,
Po:]., Q0=0,P1=q1,Q1:1,
(5)’ Pz,QZ,PS,Q’:, ,Pn,Qn( +
Gk Pk-l,Qk-l )’ (4)
1 7x+4y=100 :
Ix+4y=1, a=7,b=4,(a, b)=1.
/xX+4y=1

x=(-1) 1= -1,y=(-1) 2=2.

x =-100,y = 200 .

27 -



1
X =-4t-100,y=7t+200 (t=0,+1,+ 2, ).

x=>0,y=2 0.
W0, g g5

t= -28, -27, -26, -25. z=100- x- y= -3t.

X =12 x =8 X =4 x =0
y=4 ,y=11 ,y=18 ,y =25
z=84 z=81 z=78 z=175

2  111x-321y=75
(111, - 321) =3, 3|75, ,

37x - 107y =25 . 107 x+37y=1.
107 x+37y=1 x=(-1)9=9,y=(-1)°26= -26.
37x-107y=1 X= -26,y= -9. 37x-107y=25

=-26x 25+ 107t,y=-9x 25 +37t (t=0,+ 1,+ 2, ),

X=-8+107t,y=-3+37t(t=0,%1,+ 2, ).

28 -



ax+ by = c,a>b>0,(a,b) =1. (6)

§1 4, O, Ch, I, It a=
by + 1,0 ri<b,c=bg+ 1,0 ri<b. 8 2 3
(b,rn)=1(a,b)=1,
by + nX =1} (7)
X=X,Yy=Y (6)
_C- aXo _ ' - rnX
Yo = b - ql- q1X0+ b . (8)
i - I Xo 1 - I Xo
Yo, b - O Xo ) b . b =
Yo X =X,¥ =Y (7) ., (6)
X=X,y=0-a&x +Yy, (9)
X,y (7) , . Xy (7)
(9) X,y (6) : (7). (9)
r’l' 1 -
V= g-ax +y = d-ax+s o = S
3 (6) (9) : (9) X,y
(7)
(6) : (6) (8)
- rnx_
—— = (7, (D)
(9) (6) : (7)
(7)
(7) (6)

29 -



(7)
. (7

a, b

’ : 1,
3
: (6)
3 107 x+37y=25
_ 25 -107x _ 25 - 33x _
=T 37 T Xtr Ty =o2xty,
_25-33x
y_ 37 ’
37y +33x = 25 . (10)
_25-37 __Y+M=_y+xr
33 33 ’
25 -4
X 33
BX +4y = 25. (11)
g =BBX g Lo X g
4 4
,_1-X
y_ 41
X +4y =1. (12)
(12)
X =1-4t,y =t (t=0,%+1,+ 2, )
(11)

X =1-4t,y =6-8X + Yy =-2+33t
30 -

(t=0,% 1, 2, ),



(10)

y = -2+ 33t,

Xx=3-37t,y=2x+ Yy =

(12)

(11)

(10)

1.

X

=-y+X =3-37t (t=0,%1,% 2,

-8+ 107t(t=0,% 1,+ 2,

1 . (12)

=1,y =0

X =1,y =6-8X +y =-2

-2

Xx=3,y=-2x+y =-8

(a) 15x+25y=100,
(b) 306 x - 360y =630 .

2. 100
3.

4.

N>ab- a-b

7 , 11

ax+ by= N,a>0,b>0,(a,b) =1

N

ab

N

+1 .
ab

ax+ by = N,(a,b)=1,a>1,b>1

,N=ab- a-b

31 -

) -

) -



§ 2

a Xt &X + + aX = N,
&, &, ,a, N , = 2,
&, &, ,a
1 (1) (&
(a, &, ,a)=d.
i)y (1) : n X1, X0, , Xn
aXi + aXy + + a.Xn = N,
8§ 1 3, dlaxXi+ax.+ + aX,
(i) d|N, (1)
, 81 2,(1) n-1
: n
t=(a,a&), (d,a,a, ,a)=d|N.
bt + & X + + aX, = N
, t, Xs, , Xn.

Xt aX = ot .
§1 2 (a_,az)zdz,
a X+ aXs +t aXs+ + anX,

=t + aaxs +
X11X21 1X,n (1)

1
(al,az)z dz,(dz,
32 -

(1)

+ a, X, = N.

as)zds, ,(dn-l,an):dn-

d| N,

(1)

X1, Xz .

§ 2



6 1, d8 N, (1) , do| N, (1)

axXi+ ax = tht,
ds ts,

bt + &X
(2)

ootz + @1 Xeox = dooataoa,

Onithos + @X = N.
tn-1

(1)

tz, ,t-1, (1)
9x+24y-52z=1000
(9,24) =3,(3, -5) =1,
O9x +24y = 3t, 3x+8y=1t
3t -5z=1000.

§1
x =3t - 8u,
y =- t+ 3u,
t = 2000+ 5v,
z=1000 + 3v,
u=0,+1,+2, ,v=0,x1,+2, . t,

X = 6000+ 15v - 8u,
y=-2000-5v+3u,
z=1000+3v.

33 -



1. (1)

17
2. 60
8§ 3
( : , )
X2+ yz - Zz (1)
:3,4,5 . (263 ) 5 +12 =13, 8
+15° =17 ,7 + 24 =25 20" +21° =29°,
(1) : : (1)
(1) .
x=0,y=0,z=0; x=0,y=+ z vy=0,x=% z (1)
; , (1) : (1)
, . x>0,y>0,z>0.
(1) , (x,y)=d>1, d|xX+y, d]|z,
d|z. (1) d, (x,y)=1.
(1) : X,y,(x,y)=1
: (x,y)=1,Xx,y ; X,y
., X =4m+1l,y=4n+1, X +y=4(m+n)+2,
Z=4N A4AN+1, X+y# z, X

34 -



(1) :

UV:W2,W>O,U>O,V>O,(U,V):1 (2)

u=a,v=>b,w=ab,a>0,b>0,(a, b =1. (3

(1) u, v, w (2) . U= auw,v=bw,
a>0, b>0, , U, Vi : a2|w2,
b|w . alw,blw. (u,v)=1, (a,b)=1, (a, b)
=1. ablw. w= w; ab, (2)

Uuw = Wi
2 2 2
wiz 1, P, p | w . h, W
(w,w)=1, pBuvi. W=1,uww=1. W, W,W

: W: = = v, =1, :

u=a,v=Db,w=ab,a>0,b>0,(a b =1.

(i) ,(3) u, v, w (2)
1 (1)
Xx>0,y>0,z>0,(x,y) =1,2]| x (4)
X=2ab,y=a -b,z=4a+ 1, (5)
a>b>0,(a,b) =1,a,b
(1) (3) (1) (4) :

X2+y2=4a2b2+(a2_b2)2=(a2+b2)2=ZZ’

x>0,y>0,z>0,2|x,By. d=(x,y), d2|zz,d|z,
dla+b,dla-b,d|2(a,b). (a,b)=1, d=1 2.

y ,d|y d=1.
(i)  x,y,z (4) (1) ,
35 -



2|X1(X1y)=1' v Y, Z )
X' _z+y z-y
2 2 2
z+y z-Y d= Zz+y z-Y
2 2 ' 2 ' 2

d|z, d|y, d| x, d=1. a, b

Z+y 2 Z- Y _ 2
5 = a, 5 = Db

x=2ab,y=d& - b ,z=a +b,a>0,b>0,(a b)=1.

>0 a>Db. y : a, b
1.1
- 22ab2’_ ai - bz + ai - bz, 22ab2
a+b a+b a+b a+b ’
a, b 0,

(y+2z) x=m n2] X,

y X z= mz-%(m2+n2) mn %(m2+n2)
1.
1. 1.1.
2.
x2+3y2:22,(x,y)=1,x>0,y>0,z>0
3.

X+y =27,(x,y) =1,x>0,y>0,z>0,2| x
36 -

2= aba>0b>0(ahb) =1

y



X =4a(ad - BF),y=|a+b -6a80|,z= &+,
a>0,b>0,(a,b) =1,a,b

*

84
“ " (Fermat’ s last theorem, FLT) .
1637 : ( )
; 4
4 ; , : 2
: n>3 ,
Xn + yn — Zn
1670
n=4 : 1
n> 3
FLT . 358 : 1994
(Andrew Wiles) : n 4
4ln (1)

2.4

(x7)' + (y*)' = ()
, n=4 (1) ,

37 -

(1)



n , (1)
1 X4+y4:Z2

u,
X +y = u,x>0,y>0,u>0

(2)

(x,y)=1, : (x,y)>1,
x ‘', .y '_ _u
(x,y) (x,y) (x,y)
(x,uy)2<u’ u : § 3 XY
: 2| X . §3
x2:2ab,y2:a2-b2,u:a2+b2,
a>b>0,(a,b)=1,4a, b : 2| X, B vy,
B az2|b. , b=2b +1, a=2a, y
4(a - bl -h)-1. y=2y,+1, Y =4(yi+ y) +1.
b=2c,
o = ac,(a,c) =1.
8§83
a=d,c=f,d>0,f>0,(d f) =1.
(3)

2

y - d -4f4’ (2f2)2+ y2 — (d2)2’
2f,y)=(2f,d)=(b,a)=1,2f >0,y>0. §3

4

2

2f =2Im,d =+ m,l >0, m>0,(l,m) =1.

83
| = rz,mzsz,r>0,s>0.

38 -



'+ 8 = dz,r>0,s>0,d>0.
<

2 2 2
d =a<a+b =u.

X +y =12
1 ;
p (1) ! P
n , (1) :
2 4 )
FLT :
FLT , 1753 1770
Z[e""] ( ) p=3
: (Legendre) :
(Dirichlet) 1825 1828 p=5
: (Lam&) 1839 p=7
Z[¢s]  Z[¢A] (
), ,=€"" p , Z[ o] Cp
: 1847
: ( Kummer) :
Z[C,]
19 , FLT
1844 : Z[(,] , FLT p
p< 19, Z[(] :
FLT ; Z[ (2] - :
p< 19 : :
p - adic (

39 -



1847 1851

Z[Co]

, FLT
FLT p=37,59

20 20
FLT

(Kronecker)

20
1976

(1) X,VY,Z
p<3 10 .

40 -

),

P
67

FLT

, 37,59

FLT

1900

FLT

p1

67

p< 100

FLT

( Dedekind)

FLT
125 000
n=p,
1971
,FLT
FLT
21



, FLT ,

FLT
1983 ( Faltings)
Q(x,y)=0 > 2,
, 20
50 : n>4 (1)
> 2, n> 4, (1)
FLT
FLT ,
FLT
Oberwalfach
OK, ,
1984 ,
(G. Frey) : ((n=p
) (x,y,2z)=(a, b,c), abcz 0,
Y= x(x-)(x+ 1),
- - ( Taniyama - Shimuru - Waelil,
TSW) . , FLT , TSW
, TSW FLT !
FLT

41 -



y = aX + bxX + cx + d

a, b, c,d
TSW 1 Q( )
20 50
: ( )
( ) : :Q
L— ( p mod p )
TSW
( FLT ) “ ( Langlands)
TSW FLT
: : 1986
: — ( K. Ribet)
(B-Mazur) :
M_ ’
FLT TSW :
TSW

42 .



TSW

TSW

TSW : 7

TSW

TSW ,
,1988 3 8

" 1986



38 (Yoichi

Miyaok a) FLT , : ,
2 25
- - (Bogomolov - Miyaoka
- Yau,BMY) FLT p -
, FLT
3 22
1990 (lwasawa)
, 1991 : ’
5 :
, (M.Flach)
(Kolyvagin, )
(N.Katz) ,

44 -



1993

12

4

6
(semistable)
: TSW

: 1993

1 L_
TSW "
: FLT
FLT
8
(P Sarnak) ,
(R.Taylor)
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1994 : 8

TSW : FLT :

I

Hecke
1994 10 25
Annas of Mathematics ,

; Hecke
1995 : , 358
—FLT 1996
1998
Fids ( FLT
1994 ) .
FLT 4 | TSW
FLT ,
(1)
(2) : :
] 1 (3)

46 -



FLT

1 Rubin K, Silverberg A .A report on Wiles’ Cambridge
lectures. Bull of Amer Math Soc .(NS),1994,31:15 - 38

2 Fating G .The proof of Fermat’ s Last Theorem by R .
Taylor and A Wiles Notices of The AMS. July 1995:743 - 746

3 [ 1] - : —
358 : : , 1998

4 . : , 2002

(1) x4+4y4: 22,x>0,y>o;
(i) X*-y'=7,y>0,2z>0.

47 -



24 : :

7 ,
81
2 :
9 16 : 7 : 2
m, m
a b , a, b m :
a= b(mod m) . : a, b m
ad b(mod m) .
a= a(mod m) ,
a& b(modm), b= a(modm),
a= b(modm),b= c(modm), a= c(modm) .
1 a, b m m| a

48 -



- b, a=b+ mt,t
a=mg+rn,b=mg+r.,0£ n<m,0< r, < m,
a= b(modm), rh=r, a-b=m(q- o). m |
a- b, mm(q - )+ (r-r), m|r-r.. |r- 1]
<m, n=r,.
1 m|la- b, a,b
m
1

(i) a= bh(modm), &= b,(modm),
a+ &= b+ b,(modm) .

(1) a+ b= c(modm), a= c- b(modm) .
lL,a=bh+mt,a=hb+mt,
ata=bh+h+m(t.+t),

(. ()

C- b=c+(-b)= (a+b)+ (- b)= a(modm) .

a= b (modm), &= h(modm),
a &= b b, (modm),
a= b(modm), ak= bk(modm) .
l,a=bh+mt,a=hbh+mt.
aa=-bb+m(htt+bt+ mtt,) .

a &= b b.(modm) .

2 A, .= B, o (modm),

1

x= yi(modm),i=1,2, ,Kk,
> A o X Xk E > B, « ¥t Yik(mod m) .
Gl, ,Clk ul, ,a

k

a= b(modm),i=0,1, ,n,

49 -



X' + 8. X + +a=bX+bh..xX + +Db(modm).

a b(modm), a=ad,b=hd,(d m)=1,
a= b (modm) .
1, mla-b, a-b=d(a-hb),(d m)=1,
m|a - b, &= b(modm) .

1

(i) & b(modm), k>0, ak= bk(modmk) .
(i) a= b(modm),d a,b m

d- d d

a b(modm),i=1,2, Kk,

a= b(mod[ mu, m, , m]) .

1, m|a- b, i=1,2, Kk, § 3
[m, m, ,m]]|a- b, 1

a= b(mod[ m,, m;, , m]) .

a& b(modm),d| m,d>0, a b(modd) .

& b(modm), (a, m)=(b, m), d
a, b , d a, b :
1, a= b+ mt, 8 2 3

(a,m)=(b, m).

50 -



A 3(9)
3(9)

) a ,
a=al0"+a :10" '+ +a&,0s a<10.
10= 1(mod3), 2
& ata. ..+ + a(mod3) .

: 3| a 3|Zna. 9|a
=0

9|Zoa.
B

a= al1000"+ a.11000" "+ + a&,0< a<1000,
7( 11, 13) a 7( 11 13)

(gt @&+ )-(a+ a+ )=Zn(—1)ia~.

1000 -1 7( 11, 13) 2
a Yy (- 1)'a 7( 11, 13) . 7( 11,
13) a 7( 11, 13) S (- 1) a .

1 a=5874 192,

n

Z a =5+8+7+4+1+9+2 =236
=0

3,9 : A, a 3,9
2 a=435 693,
51 -



Z a=4+3+5+6+9+3 =230
=0

3 , A3 a : a 9 , 9
2.
a
3 a=637693, a=637 1 000+ 693,
Z a = 693 - 637 = 56
=0
7 11 13 . B, 7 a o111,
13 a )
4 a=75312289, a=75 1000 + 312 1000 + 289,
Z a = 289 - 312+ 75 = 52
=0
13 , 7.11 . B,13 a N
11 a
( )
a, b P,
a= al10 + a, 1100+ + a,0< a <10,
b= b,10" + b,..10" '+ + h,0< b <10,
P=g10 + 6,10 + +,0< c<10.
n m |
- a mod9) , 1
2.8 2, ba ) almodd) (1)

2 :

ab = Zno a Zmo b (mod9), P = ZIO G (mod9) .

Za- ZbéZQ(mOd9),

52 -



aba P(mod9), ab P.

a, b

: ( 9= 0(mod9)) .
5 a=28 997, b=39 495 .
P=1 145 236 415,
as 17(mod9), b= 3(mod9), P= 32(mod9) .
3 174 32(mod9),

(1) .

(2 a)(X B)= > a(mod9),

1145 236 515 . 1 145 235 615 .

3 17= 33(mod9),

a= a,10"+ a,.,10" '+ + a,0< 3<10,

11 a 11 ZO(- 1)'a .
37,101 .
641[2% +1 .

5. a

53 -



&= 1(mod2™?) (n= 1) .

6.
(i) 1535 625,
(ii) 1 158 066 .
§ 2
1 m ,
: Ko, Kiy , Kn-1, Ki(r=0,1, , m-1)
gm+r (=0, 1,£ 2 )
(i) :
(ii)
m

(i) a , § 1 4
a=am+r.,,0€ r.< m.

a. Kr . ra a Ll

Kra
(i) a, b : Ke
a=gm+r,b=qgm+r,
a= b(mod m) . a= b(modm),
K-
1 Ko, Kiy, , Kn:os m

54 .



am -1 m
1 ;
m m
m ( )
0,1, ,m-1; (1)
Obm+1, ,am+a, ,(m-1)m+(m-1); (2)
0,-m+1, ,(-1'm+a, ,(-1)" "m+(m-1) (3)
m
m ;
- e oL L -1,01, 5 -1 (4)
o+l 21,01, -1 (5)
m
m ;
m
2 m ,(a,m)=1,b , X
m , ax+b m ,
, Qo,a&, ,am-1 m : aa, + b,
aa+ b, ,aam-1t+tDb m
1 : aa + b, aa + b, , aan-:
+ b
aa + b= aa + b(modm), (i j). 8§81
aa= ag (modm) . (a, m) =1 as a
(mod m) . &, d, -1

95 -



3 m,, m , X1, X

m., M , m Xi + M X m. M
X1, Xo m, M . m X
+ M X m, me : 1 : m. m,
m N
M X+ MX= MmX+ m X (modm m), (7)
X1, Xi X , Xo, X5
: §1

Mme X1= me xi(modm),

m X>= my Xz(modm,) .

81 (m, m) =1 1= Xi(modm), Xo= X
(mOd rnz) . 1 X'l = Xl', Xz = Xé . Xl, Xz
X1, X3 , (7)
0111 ,m'l m m
m m m
- — - — - -—+
b m ) 2’ b 110’11 12 1 2 11 b
m
-1,0,1, > m X m
m-1 m-1
’- 2 b ) -110’11 ) 2 m
m( ) :
, 81

56 -



1.
x=u+p 'v,u=0,1, ,p '-1,v=0,1, ,p-1,t<s p

2- ml!le !nl( k !X11X2’ 1Xk
m, m, , M )
M xs+ M2 xo+  + MiX
mm m=m : m= mM,;,i=1,2, , k.
) _3n+1_1
3. (i) -H, ,-1,0,1, ,H H= 3.1
3%, +3" X+ +3x+ X (8)
, Xi=-1,0 1; (8) > - H, < H.
(ii) n+1 , 1 H
4 n‘h,nb, arTl( k 1X11X21 1Xk rrl]_!
m, , Mk )
Xi+ M X+ My M X3 + + M m Mk. 1 Xk
m m, m

o7 -



§ 3

 — (Euler)
¢ (a)
0,1,2, ,a-1
m
m
m ;
m
m m
m m
m
Ko, Ki, , Knoa m
, (r,m)=1.
1 8§81 , Ko
m
(r, m)
m
&, &, ,am @(m)
m , &, &, , Gm
) .
2 ,
(a, m)=1, x m

m )
®(m) m
K,
k K, (k, m)
m
m
, ax



ax ¢ (m) , (a, m)=1,(x, m)=1,

(ax, m) = 1, ax;, = ax. (modm), §1 X =
X, (mod m), : 2,
4 m, m y Xi, Xo
m., M : m, X + My X m. M,
1 :
: L X, X
m,, M : M X + My X m. M
m. M
8§ 2 3 X1, X My, M
, m X1+ M X M Mme . ( X2, M)
=( %, m)=1, (m, m)=1 (M X, m)=(m X,
m) =1, (MX+ mX, Mm)=1,(mMmx+mX, m)=1.
(M X+ M X, mm)=1. ;o (M + meX, mm) =1,
(M X+ M X, M)=(M X + M X, M)=1. §1
M X, m)=(m X, m)=1. (m, m) =1, ( X,
m)=(m, X)=1,
m, m ;o e (mm) =
e(m) @(m) .
4 , X, X m., m
, m X + m X m, M : m X +
M X, o(m m) . X1 @(m)
, X Q(m) : M X + My X O(m)o(m)

o(mm)=p(m)e(m) .
5 a= F;:(LlF;XZZ pik,
59 .
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(p(a):al-g 1-E 1-E
(i) 4
¢(a)=9(p)o(p?) @(ps)

(i) e(p)=p-p . o(a) ®(p)
p 1L, .p p : p
1L, .p p p ®(p)

p 1, .p p . §5

1, .8 p % = p
¢(p)=p-p

(i) (i), (ii)

@(a) =(pr- pr )(p2-p2 ) (pe- pe)
:al—é 1—& 1—ﬁ
1 2.
2 m 1 a ,(a,m=1,¢§ m
Z % =%<p(m),

Z 3
3.()  e()+e(p)+ +@(pP)=p.p
(i) Za(p(d):a, Za a
4. m,m, ,m K &1,82, &k
m, m,, , M

M1+ Mo+  + Mg«
mm m=m m= mM,,i=1,2, ,k.



§4

( )
a "= 1(modm) .
rj_, r2, y r(p(m) m y
3,ar,, ar,, , al(m m .

(ar;) (arm)= rn Iz lhem(mod m),

ép(m)(rl I rcl)(m))E rr rq,(m)(mod m),

1(Euler) m 1 ,(a, m)=1

§ 3

(ri,m)=(r., m= =(rym, Mm)=1, (rir2  TIom, M)
=1.
§1 ,
a'™= 1(modm) .
(Fermat ) p :
a= a(modp) .
(a, p) =1, 1 8§83 5
d = 1(modp),
a= a(modp) . (a,p)#z1, pla,
a’= a(modp) .
1 :
: —S‘,b>0

81 4 a=Dbg+ r,0< r<b,

—Sz q+Er,Os

T
b

61 -



1, ,9 : 0)
s 0,t>0
&= as+k+i,1=1,2, ,t k=0,1,2,
, O.&va &
S+t -
, s
t : &+1, &r2, , Bt ; t

; s=0, :

a
b1
(b,10) =1 .

O< a<b,(a b)=1,

0.aa aa a =q+—g‘,q>o.
Fa:ﬁq._l, a(l0'-1)=bg. (a,b)=1 b| (10" - 1),
(b,10) =1 .
(i) (b,10) =1, 1 t
10'= 1(modb),0< t< @ (b)

, 10'a= o+ a, 0<qg<10'd<10 1-+ <10'-1.

b~ b
62 -



a a

10 b=q+b.

g=10gq¢ +a, =100 + &.:, ,Q..=10g+ a&,0< a
<9, (g=10g+10 'a+ +10a..+a. 0<qg<10 -1,

g=0, &,a, ,a 9, 0.
a4 _
0 aa& a,
a_ 1 a
b—O.alaz a+10t b -

%20.3.132 aaza a =0.a a.
a _ _
3 b : O<a<hb,(a,b)=1 b=
5’h,(b:,10) =1, b# 1,0 B , f
: v =max(a,B)( a,B ) -
, u=p=2a. 10 %
u_a_ZB'ua_ a
O<a<h,0s M<10" (a&,hb)=(2 a- Mb, b) =
uo-a _ é
T
bl—O.C]_ G
M=m10"" "+ + m(0< m< 9)
—S:O.ml mc G

63 -



a
b

2=0.m md &, (v <p),

2,
v a voa _d
10 b 10 b =0 .¢ CS‘bl’
(b,,10)=1 .
va_i
10 b =B
10aB = db.
5 =5 , a b 5 (

1. :
2. (12371°+34)® 111

3.(i)

+h)’= H+ K+ + hi(modp) .

(hh+ hp+
(i) (i) 1 1 1.
4. : —g,o< a<b,(a,b)=1
t
10'= 1(modb)
t
85 ——RSA

64 -

(a, b)



)
( )
1976 (W.Diffie)
(M. Hellman) (public key)
1977 (MIT)
(R.Rivest) (A . Shamir) (L.Ademan)
RSA .
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P, q : 100; N=pg; e, d

red= 1(mody ( N)), o (N) N
e, N d.
a(0s a< N-1). a
b(modN),0< b< N-1, b, b
b, e, d

b'= a'= a “'"'= a(modN)
b a.
(a, N)=1

a “""= a(modp),a ™= a(modq)

e(N)=@(pg)=(p-1)(9g-1),

p a ,(2) ;P
(2) : (2)
: (2) a .
e, N . , d
; e, N,
. | ? d,
®(N) . (3) . o(N) N
, p, g 100,
®(N) : d. ,RSA
RSA . N
®(N) , e, d,i=1,2,
ed= 1(modep(N)),i=1,2, .
[ e, N

66 -

mm
I

(1)

(2)

P, q



)| e, N i
, RSA
RSA : ,
1977
129 N 4 e RSA
, RSA-129 . 100 ,
, 129
23 000
17 RSA-129
RSA-129 64 65
, RSA-129 ,
RSA

RSA-200 RSA-300, :
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D=E . RSA
e: 0< as< N -1, a= b(modN)
e(a)=b,0s bs N-1, b a N -
bd=a(modN),Os a,bs N-1 : n
A,i=1,2, ,n, A E

D=E" , . A

X A y=E(x) A, A y
., D Y, Di(y)=E E(x)=x.

; Y, A A ) E

DA D X, y = Di( x) A, A
E., E y E(y) =ED(X)
=X . A D, A . :
C A
X D ( ) El ), y=EDI(Xx) A, A
.Y b ) EC ),
EDi(y) = EDED: ( x) = EDi( x) = X,

1976 ,
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20 : ,  RSA
( § 3) .

,(2)

1 Koblitz N .A course in number theory and cryptography .
GTM 114 Springer - Verlag,1987

2 . : : ,2002 .
8§ 6
§ 2 m m Ko, Kiy , K-t
1 m () m emi_=cos%+

isin%,rzo,l, ,m-1. 81 1, a= b(modm)

mid omi 2
a= b+ mt, a= b(mod m) e "=e ", m
1 m , K, &"'m
i omi 252 omi=
a+ b= c(modm), € m™ée&m=¢g ™ =g ",
m
m
Z e , f(x) , X
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omi 2% j==
mla ,e ™ =1, Zem:m ng a,
z 1 r X m ,
omi X omi &L
e m=e m
X m , r m

az 0,
I €' d x j’ cos( 2ta x)d x +Ii sin(2tax)dx = 0 .
0 0 0

3 a ,q q ’ q>q’
d
€< min d - 4
: 1 1
mn 49y -9 Tg
=min({a},1-{a}), h=2. as% , h> 3

70 -
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q
21i ax
S= e
x=+ 1l

q

I S |S Z | e21iax
Xx=qg+1

2mia
a . |le |# 1,
d-9-1
2ti(g+1) a

S=e

21i ax
Z e = e
=0

|=XZZ+11= d -g.

2mi(d-q)a
ni(q+1)a 1 - €

1 _ eZTia

1_e2ni(d-q)a 2
|S|:‘ 1 2ria < 2mi a
- € |1-¢€ |
2 1
= T a -Ti a = - .
le " -e " 7| |[sima]

|sintta | =sintt{a} =sinmt (1

’smnx . 0< a
X
sin =
SinTt o 2=
a 1
2
o <i _ 1 1
6 siNTt o 3a
4 m 1
1,2, ., m-1

-{a}) =sint a

< i
2 7

,q(a), d(a)
d(a)>aq(a),

< mlogm - d,

m m
3Iog2 5 +1 ‘m>1:
02 %1 m= 12;
m=> 60 .
m

0< x<

71 -
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O<a<m g z 0,
—a,0< a< m7?,
2 _ " (1)
m m- a
—<a<m
m 2
3
m-1 d (a) m-1
j ax 1
DI I CED Wi
=1 X = a)+ 1 =1 h_
m
m-1 1
= Tn, m . (1)
-1 h—a
m
7
2 2m 1
= < —_— —_
Tn Zlhg‘3 ma+mmzma
O<aSF E<a<—
m
X X
log(1+ x) =x-5+5 - (|x[<1),
2a+1 1 1 1
= +— - -— > =
IOgZa-l log 1 > a log 1 5 a a (2)
2 2a+1 2a+1
. < = +
To<gmy logo—g+vmy logs 7
0<a5€ ?<a<?
2a+1 m 2a+1
<m) lg5, 13 2 lo5,
O<a<? 0<as6—
= mlogm-%nlog 2 rgn +1
m ,
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Tm:m +mz

O<a$2m 0<a<—
m 2 m m
< 5 - - = — +
2Iog(m 1) 3Iog 2 5 1
< mlogm - —log 2 %1 +1
m m m m
m= 12, 26 +1> 5, 3Iog2 5 +1 >
m m
60 3Iog 2 6 +1 > m
1. 2 D (X, X, Xa)
f(X1’X21 ,Xn):N,aJS X< b

S L, S e

S m = Zemiﬂm_)q,saym = Zemiﬂr%'l

891, ml szmz = sz,a1+ m &, mlmz;

Saj.m; Saym, = Sy e may, mm, -
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X + x+ 1= 0 (mod?7)

? : X= 2 (mod7)
§1
f( x) aX + a1 X+t o,
a ; m )
f( x)= 0 (modm) (1)
m . aa 0 (modm), n (1) :
81 2, f(a)= 0 (modm), Ka
a f(d)= 0 (mod m)
a f(a)= 0 (mod m) ,  X= a
(mod m) (1) : (1)
m (1)
ax= b (modm), ad 0 (mod m) (2)
(a, m)|b.
(2) , (2) ( m ) d=(a, m).

. 74 .



(2) ax- my= b
. §1 2 (2)
(a,m)|b.

d=(a, m) . (2) § 1 1 (2)
X= Mit+x, m=-, t=0, £ 1, 2,
m ’
X= X + kme(modm), k=0,1, ,d-1. (3)
X+ kmy, k=0,1, ,d-1 m . (2)
d . (3) .
, (2)
ax- my=b (4)
X , (2) (4)
1.

(1) 256 x= 179(mod337) . (ii) 1215x= 560(mod2 755) .
(iii) 1 296 x= 1 125(mod1 935) .
2.
X+4y-29= 0(mod143), 2x - 9y + 84= 0(mod143)
3.(1) m ,(a, m)=1,
x= bd ™ *(mod m)
ax= b(mod m)

(i) p ,0< a< p,

X= b(-1)a'1(p'1) a(1||0 a+1)(modp)

ax= b(mod p)
75 -



4. m T , 1< 1< m,(a,m=1

ax= y(modm),0< x< 1,0<|y| <TLn

"5.()  m (%, X2, %) N X, X2, X

f(X, %, ,X)= 0(modm)

-1 1 -1

m-1lm- m af(x x2 x )
=iy 58
(i) (1) 1.
(iii) m yd=(a, &, ,a,m).

aXitax+t +ax= b(modm)

T m d, d| b,
-0, @b.
8§ 2
x= bh(modm,), x= bb(modm,), , x= b(modm) . (1)
( )

X= 2(mod3), x= 3(mod5), x= 2(mod7) .
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3 2 5x 7 2 35x 2x 2

140 + 63 + 233 - 2x

5 3 |[3xs5x7=105|7x 3| 1 21x 1x 3
30 =233 105 = 23
7 2 3x 5| 1 15% 1x 2
1( ) m, m, , M k
.m=mm m, m= mM,i=12, Kk, (1)
x= Mi Mib+ M, M, b + + M Mcb(modm), (2)
M M= 1(modm),i=1,2, ,k.
(m,mj)Zl,ii j (Mi,mi)Zl, § 1
M, M'; ,

MiMi= 1(mod m) .
mzmMi, m|M|,|¢ j1

; M;M;b= M Mb= b (modm)

(1)
Xls X2 (1) '
X= X(modm),i=1,2, Kk,
(m,m)=1, X1= X (modm), (1) (2) .
(1) ((m,m)=1, i# | )
my b, _ Mz | M3 Mo M3 b, X
™™ M [ | x= 2 MiMe(modm)
my by M, | My MM’y by

7 -



(1) M,

XM= 1(mod m) .

(1247)
11 H( , X
) .
2 b, b, ,h m, m, , M
. (2) m=mm M
Xo:Zl M Mhb, Xo m, M Mk . m

’ ‘
; M’ M; b, = Z M M, (mod m)
M Mbi= MiMbB (modm),i=1,2, Kk,
b= bi(modm),i=1,2, ,k. B, b m;
, bi=1,i=1,2, k. § 2 1

1
= b (mod5), x= b (mod6), x= kb (mod7), x= b (modll) .
m=56 7 11=2310, M: =6 7+ 11=462, M2 =
5 711=385 M;=56 11=330, M,=5 6 7=210 .
M: M= 1(modm), i=1,2,3,4
M, =3, M,=1, M5=1, M, =1 .
78 -



x= 3 462b +385h, + 330h; + 210 b, (mod2 310)

b,=1, b =5, k=4, bh=10, 1
Xx= 3 462+385 5+ 330 4+210 10
= 6 731= 2111 (mod2 310) .

1.
(i)
(i) :
( : (1275))
2.(1) my, m, me LM, me), (Mg, mg)] =
([Lmy, m], m) .
(i) d=(m, m),
X= b(modm), x= by(modm) (3)
dib - b, .
(3)
X=E X ,(mod[ my, m;]),
X1, (3)
(i) (1), (i)
x= bi(modm), i=1,2, ,Kk (4)
(m,m)|(b-b),i,j=1,2, .,k
(4) :
X= Xi2, «(mod[ my,m, , mJ])
X12, (4)
"3.()  m,m, ,m k ,mi(i=1,2, ,k) m

M, M,
79 -



Mk , D (4) ,(4)

x= bj(modm;),i=1,2, ,k (5)
, (4)
(i) (i)
?(
10 020)
8§ 3
1 m,, m, 11" k m =
m m  m,
f( x)= 0(mod m) (1)
f(x)= O(modm;),i=1,2, ,Kk (2)
( (1) (2), (2)
(1)) . T f(x)= O(modm,),i=1,2, Kk,
m; , T (1) m
T=T.T. T«. (3)
(1) (1),(2) L X (1)
f( %)= 0(modm) .
m=nmm N 81
f( X%)= 0(modm;), i=1,2, ,k.
Xo (2),

f( %)= O(modm),i=1,2, ,k.



(m, m)=1(i# j) §1
f( X%)= O(modm m, m),

(1).(2)
(i) f(x)= O(modm) T,

x= b.(modm), t=1,2, , T,
(2)

x= b (modm), x= b (mod m),

X= he (mod mc), (4)
t=1,2, ,T,i=1,2, ,k. (i) (1) (4)
(4) m . (4
m T.T. T . §2 2 .T. T
m . (1) m
T= T1 Tz Tk .
1
f(x)= 0(mod35), f(X) =X +2X +8x+9 . (5)
1 (5)

f( x)= 0(mod5), f( x)= 0(mod?7)
x= 1,4(modb),

x= 3,5,6(mod7) .
() 2 3=6
x= b (mod5), x= b (mod7), bh=1,4, b,=3,5,6

X= 21b + 15h (mMod35) .
b, b (5) :
x= 31,26,6,24,19, 34(mod35) .
. 81-



m
m= P g B
1 f( x)= 0(modm),
f(x)= O(modpi),i=1,2, ,k.

f(x)= 0O(modp), p (6)
§1 (6)

f( x)= 0(modp) . (7)

(6) : (7)

2
X= X:(mod p)
X=X+ pt;, t, =0, 1, 2, (8)
(7) Bf(x)(f(x) f(x) ), (8)

(6) ( p )
X= % +pt,t=0,+14+2,

X= X% (modp ), %= X (modp) .
(1) f(x)= 0(modp’) (8)
f(x + pt)= 0(modp’) t . (Taylor)

f(x)+ pt.f ( %)= 0(modp’) .
f( x.)= 0(mod p) ,

te f(x)= - f(;(l)

(modp) .
B f(x), P
L= fl(mOd p), =1t + ptz .

(8)
. 82.



X=X+ p(ti + pt) = % + pztz,
X = X + pti . = X (modp), f(x)= 0
(modp’) . Xx= % (modp’) f(x)= 0(modp’) ,
(8) :
(i) a-1 ,  (8)

f(x)= O(modp ")
TX = X% .q t+ ﬁ"lg_l,g_lzo,t 1,+ 2, y Xa-1 =
X (modp) . (6),

f(%-1)+ Fil_lta-lf'()(x-l)E O(mOdpa) .
f(%..)= 0(modp '),

Lor f'(Xx-l)E - f(ﬁ)g-_ll)(mOdp),
% 1= X (modp) f(x-2)= f(x)(modp), p8

f(x), B f(%.1),
too=t..+pt, t=0,£ 1, 2,
(6)
X= %1+ p (La+pt)=x8pt,
%= % 1+ P tii= x(modp) . a

2 (7) (6) ,

f(x)= 0(mod27), f(x)= X +7x+4 .
f( x)= 0(mod3) Xx= 1(mod3), f(l)a
O(mod3) . x=1+3t f( x)= 0(mod9)
f(1) +3t f (1)= 0(mod9) .
f(1)= 3(mod9), f (1)= 2(mod9),
3+ 3t 2= 0(mod9), 2t +1= 0(mod3) .
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tt =1+ 3t;,
Xx=1+3(1+3t)
f(x)= 0(mod9) : X
(mod27) ,
f(4) +9t f (4)= 0(mod27) ,18+9t, 20= 0(mod27),
2t, +2= 0(mod3), . =2 + 3t; .
X=4+9(2+3t;) =22+ 271,

4+9t,
4+ 9t, f(x)= 0

1.
6 X + 27 X + 17 x+ 20= 0(mod30) .
2.
31X+ 57X+ 96 x + 191= 0(mod225) .
" 3. §5 2, §1 5 (3)
. 5% +11y*= 1(mod m) m
8§ 4
f( x)= 0(modp), f(X) = axX +a. . X + +a, (1)
p ,  a&a 0(modp) .
1 (1) p-1
q( x)
r( x)
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f(x)=(X - x)q(x) +r(x)
r( x) p-1. : X
X - x= 0(modp) . X
f(x)= r(x)(modp) .
(1) r(x)= 0(modp)
2 k< n, x= ai(modp) (i=1,2, ,KkK (1)
k , X ,
f(x)= (x-a:)(x-0az2) (x-o)f(x) (modp), (2)

f ( X) n- k , a. .

f(x)=(x-0a) fi(x)+r,
f. ( X) a n-1 r
, f(a:)= 0O(modp) . r= 0(modp) . X
f(x)= (x-0a1) fi( x)(modp) .
x=a;(i=2, ,k)
0= f(ai)= (ai -ay) fi(ai) (modp) .
o;d a.(modp)(i=2, ,k), p
fi(ai)= 0(modp)(i=2, ,k).

2
3 (i) X ,
X' -1= (x-1)(x-2) (x-(p-1))(modp),
(i) (Wilson )(p-1) !'+1= O(modp) .

4 (1) :
(1) n ., (1) n
+1
x= a;(modp), i=1,2, ,n,n+1l.
. 85.



2
f(x)= a(x-a;)(x-0a;) (x-a,)(modp) .
f(ane:)= 0O(modp),
A (Oner -01)(Aner -02)  (Anes - 0n)= 0(mod p) .
p , &a 0(mod p), o On+1 - 0= 0(modp),

(1)
a,a 0(modp), 8§81 dn dn a,
= 1(modp) . (1)
X' + (dnan-1) X'+ + (dwa)= 0(modp)

5 n< p,
f(x)= O(modp), f(X)= X +a..X + +a (3)
n f(x) X -x
p :
f( x) 1,
a( x)  r(x)
X" x=f(x)a(x) + r(x), (4)
r( x) < n, q(x) p-n. (3) n
n X - x= 0(modp) . (4) n
r( x)= 0(modp) . r(x) n,
4 r(x) p : ;o r(x) p
(4) , X :
f(x) g( x)= 0(mod p) . (5)
;(5) p (XE 0,1, y P - 1(m0dp)) .
f( x)= 0(modp) k<n. : 4 ,9(x)=
O(modp) h< p-n. (5) < k+ h< p,



1.

nfp-1,n>1(a,p)=1,

n

X'= a(modp)
-1

p- 1
an= 1(modp),

n ,(a, m) =1, x"= a(mod m)
Xo(mod m) .
XE Y% (modm),
y y'= 1(mod m)
3. n (n,p-1)=k. x'= 1(mod p)
4 () 3(i) 5 (x-1) (x-p+1)
P
(ii) p>3 (p-1)! 1+ + +pi}1
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X = a(mod m)
( ) m
81
ax’ + bx + c= O(modm), ad O(modm) . (1)
X - 3= 0(mod7)
(1)
m m = p“ll Fi’zz pukk’ § 3
1, (1)
ax + bx+ ¢c= O(modp),i = 1,2, ,Kk.
f(x) = O(modp), f(x)= ax + bx+ c. (2)
pl(a b o, (2), (2) . pl (a b,
¢ ,r<a, p a, b, c P (2)
B(a,b,c). (2) B (a,b,c) .
p'll Kk Pk p'*8 Kk, P k.
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(i) pla plb, Bec,
f( x) = 0(modp)
: 8§ 3 , (2) :
(i) pla, @b, f(x)=2ax+ b= 0(modp)
§ 3 2,(2)
ax + bx + c= O(modp)
bx + c= 0(modp)
, (2) :
(i) Bap>2 (p,4a)=1. 4a (2)

(2ax+ b)° - A= O(modp),A=b - 4ac.

3) (2) .y 2ax+b

y - A= O(modp) .
1(2) (4)

y:yo- (Za,ﬁ)=1’

2ax + b= y(modp)
(3) , (2)

(iv) p=2,8B a . B b,

2ax+ b= 0(mod2) (i) , (2)

2| b,

axX + bx + c= 0(mod2)
X , X' = x(mod2) .

(a+ b) x+ c= 0(mod2)
2| (a+ b), (2)
b=2h . (7, a)=1, (2)
(ax)’ + 2b(ax) + ac= 0(mod2")

(p,b)=

(3)

(4)

. (4

f(x)=

2| c,



2

(ax + b)° - A= 0(mod2),A = b - ac (5)
. (i) (5)
Yy - A= 0(mod2")

(4) ! (4) .

plA, (4) . P8 A, gl A, A=
pA,a>p20. B=1, ply. Pl y,y=pt, (4
p't - A= O(modp), p8 t, p8 A, (6)
6) (P't,p)=(PA,.P)=p, § 4 3.3
B=min(2r,a),
2r = (.
B : : B , (6)

2

£ - Avs O(modp *),(A,p ") =1

X = a(modp),(a,p) =1
X = a(modm),(a, m) =1 (7)
(7) , a m
(7) , a m .
P 2

(4) . PILA, (4)



ax’ + bx + c= O(modm),(2a, m) =1

X = gq(modm),q= b - 4ac

§ 2
p
X = a(modp),(a, p) =1 (1)
A( ) (a,p)=1, a p
apé_lz 1(modp); (2)
a p
p-1
a’ = - 1(modp), (3)
a p , (1)
(i) X - a XA,
a(x) X -aT (X - a)a(x),
X" - x= x(x" - apé_l) +(ap5_1 - 1) x
= (X - a)xq(x)+(apé_l-1)x.
a . (2) . § 4 5 X =
a(modp) : (2) : a
(i) , (a, p)=1,

a'= 1(modp) .

-1

N

(apé_l+1)(a - 1) = O(modp) .

9 -



p (2).(3)
Pl
a? a 1(modp) .
a (3) .
2 P
p-1 pb-1
2’ 2
12 22 ’ Q - 1
2
1
Ll
X ? = 1(modp)
L]_
x2 -1 X - X
p-1
2 1)
p-1
>
(4)
K= F(modp),1s k< s 224,
x= + k, £ |I(modp), 1
1. 37
2.(i) : p
(ii)
(iii) (i), (ii) S ¢

92 .

(i) a
(4)

§ 4 5
(p-1)-B5+=
X'= 1”(mod p)



p-1
>

X = a(modgd),(a,p) =1
+ PQ (modp),
p-(z+ a)+ (z- a)u’Q:(z+ a) - (z- a)“’
2 2 a
Z= a(modp),QQ = 1(modf) .
4. X +1= 0(modp), p=4m+1
x=x 1. 2 (2m)(modp) .

X

§ 3

(Legendre) —3 ( a p

1,a P ;

T |

0, pla.

X = a(modp)

§ 2 1

o1
= a2 (modp) . (1)

T |o

(1)
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o=t (2)

= (-7 (3)
p - .
a= a, (modp),
a A
- = — . 4
0 5 (4)
(1),
A & an b-1
= (@ a)°’
Y
p1 opd p1
= &2 a22 an2
a @ an
= — — — (mod
0 p 0 (mod p)
ade & & & . 0>2,
P PP Y
& a [ an
= 5 5 B (5)
P PP Y
ab2
= — ,p8 b. 6
0 o ' P (6)
(4) a p &=
a(modp),0<s a<p a .(5) a
a p a P
(6) P
(2) 1 ; (3) p=4m
+1 ,-1 : p=4m+3 , -1
1
2 21
R (7)
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(a,p)=1,38 a,

a p
L — - 1)k ’ 8
5 = (-1 (8)
_p-1
P 5
(7)
p=8m+x1 ,2 , p=8m+x 3 2
2( ) P q ,(p,q) =1,
a _ et p
— - 1)z 2 9
5 = (-1 . (9)
a
2 9 - ,
(2) (9) 0
X = a(modp)
X = 286(mod563)
563 , 563=70x 8+3. (5),(7)
286 _ 2 143 _ 143 _ 11 13
563 =~ 563 563 563 563 563 °
(9),(2),(5),(4),(7)
13 _ 563 _ 4 _ ., 11 _ 563 _ 2 _ .,
563 13 =~ 13 = 7 563 11 11 ’
286
563 ~ 1
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(

1.

(i) x*= 429(mod563) ,
(i) X¥= 680(mad769),
(iii) »x*= 503(modl 013)

503, 563,769,1 013 ) -
2.

-2 : -2

n 4n+3  8n+7
2= 1(mod8n + 7) .

23| (2% - 1), 47| (2® - 1), 503] (2% - 1) .

8§ 4
1 2,
(a,p)=1,ak k=1, _pz_l p
Me . ng Ik m,
5 =7
&, ,a '% rg; b, , by

(1)



a+h=p, ke ke
ak, + ak = 0(modp), k + k = 0(modp),

(1) t+ m:-pé—l

22l e CoTa]e- )

= (- 1" 2= (modp),
a el m
FE a2z = (-1 (modp),
.83 1 “re,a,h, m t
85
ak = pipk+l’k,
2 %1 t m
p -1_ ak |
aTg TPyttt
%l t m m
ak
S Py, Aty mezgn-m
ak
=P, p T komer2) b
el m
_ ak . p -1
_pzl - + 3 mp+Zleq,
, 2=
(a-1) 2= 5 %k+m(mod2). (2)
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5.4.1
98 -

(3)

(4)

OA,



, oK , O K
oK OABC
oK . OK
Pl
ah
2. P
OAM (OA
ST,
- OAM
p
M o, 2 BM
p
BLM  BL
OAM
OK
2
1. + 3
?
2 3
§ 5

§ 3
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: a
(Jacobi) m( a m )
1 m a
: a
a _ 4a a a
m- PP P ()
a
m=pp pP,pP F a p
2 _ 2 2 _
9 =~ 3 3 L
X'= 2(mod9)
: a= a, (mod m),
a _ &
m  m (2)
a= a (mod m) a= a(modp),i=1,2, ,r,
(1)
a _ 4a a a
m PR P
_ A& a A _ oa
P P Pr m
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1
- =L (3)
_1 m-1
o - (-7 (4)
(4) :
Bm m=pp p,
m2-1 p12-1+p22-1+ +pr2_1+2N,
2 2 2 2
m_l_pl-l pz-l pr' r
g -~ 8 ‘8 T *tTg *2N,
N’
m-1 pp p-1
2 2
p. - P - p-1
_ 1+2 5 1+2 > +2 > 1
2
_y b1
_Zl > + 2 N,
1_pp po-1
B 8
p. P2 p. - 1
h = = r -
-1
) 1+8 3 1+8 3 1+8 3
- 8
r pz._
:Zl 3 + 2N,
(1)
-1 ' -1 rpi_-l m-1
R L LS S
a & & = ﬁ E E (5)
m m m m
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S = 2 (bm) =1 (6)
§ 3(5)
d d r _13, _ f i i
m _[ll I_lp _ELEIL p
A 2 .- &
_I_|1|_=I1 Pi _I_Il m
§ 3(7)
Z-nd-cvracT
2= (7)
, m, n 1
4o pre o (8)
(m, n)# 1 ﬁ% = {? =0, (8) . (m,n)=
N=0 ¢ G, , (5) §3(9)
_n
ﬂﬂ n
I_l( 1)p2 ilz_g
T o R
=1 Z‘ []1[]1 q
e pb-1 g-1_ ' p-1 2 g-1
ZlZl 2 - 2 - =1 2 Zl 2
- ”;' + 2N ”é1+2N2
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3
I
=
-
=

Qo

m_ln—l m
— _ 2 2 —
=(-1) 0o
(8)
a
m
(2) (8), r=1
m ,
1 m 1
X = 286(mod563)
@ B L % _ 1432—15632—1 &3
563 ~ 563 563 =(-1(-1) 143
_ -9 _ -1 _ 1
T 143 T 143 S
(
1. 83 1
2.

(i) x*= 3 766(mod5 987), (ii) x’= 3 149(mod5 987)
5 987

3) .
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3.(i) , § 2 1,
X= a(modp), p=4m+3

(ii) : § 2 1 8§83 1
X= a(modp), p=8m+5

" (iii)
X= a(modp), p=8m+1

§ 6

X'= a(modp), (a, p) =1

X’= a(modm),(a, m)=1 (1)
m m=2"prp2 p&.
§3 1 (1)
X= a(mod2’), X= a(modp),i=1,2, ,Kk (2)
, (1) (2)
X'= a(modp),a >0,(a, p)=1 (3)
1 (3) —S =1,
(3) 2
—S = -1, Xz a(modp) .,  (3)
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—S =1, § 2 1, X'= a(mod p)

X= X (mod p) : (a, p)=1 ( X,
p)=1. Bp, (2x,p)=1. f(x)=xX-4a @Bf
(%), 8§ 3 2 X= X (modp) (3)

X = a(mod p) (3)
X= a(mod? ),a>0,(2,a)=1 (4)

. a=1 ,(4)

1. a>1
2 a>1 (4) (i) a=2 ,a=
1(mod4);(ii) a=3 ,a= 1(mod8) .
(4) : a=2 |, 2, d
>3 4 .
x= % (mod?) (4) , (a,2)=1 ( X,
2) =1, X, =1+2t, t

1+4t(t, +1)= a(mod2"),
(i) a=2 ,2 =4,
a= 1+4t(t+1)= 1(modd) .

(i) a=3 , 1+44(t+1)= a(mod8), 2|t(t+
1),
a= 1(mod8) .
a=2 (i) , a=s 1(mod2") . Xx= 1,3
(mod2") (4) , .
a=3 ,(ii) , a= 1(mod?) . x= 1,3,5,7

(mod2” ) (4) .
a>3 : a =3 (i)
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X'= a(mod2’)
Xx=% (1+4t),t=0,+ 1,+ 2, . (5)
(5) X = a(mod16),

(1+4t)’= a(mod16), t= 2% (mod2) .

a-1
L=G+2L, ;= g

x=%+ (1+4t;+8t;) =% (X +8t),
Xx=1+4t, =0, 1,% 2,

X = a(modi6)

X = a(mod25)

X=% (X +16t;), =0,+ 1,+ 2,

Xo = a(mod25).
o >3, (4)
x=+ (%+2 't),t=0,£1,+2, |,
%= a(mod2") .
X 2"
X= %, %+2 ", - %, - %-2""(mod?) .
% +2 = x=1(modd), - % -2' "= - %= - 1(mod4),

% +2° "4 %(mod?), - % -2" "4 - % (modZ) .

X'= 57(mod64) .

57= 1(mods) , , X x=% (1+4t),
(1+4t:)°= 57(mod16) . t= 1(mod2), X
=+ (1+4(1+2t))=+ (5+81) X = 57(mod16)
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, (5+8t) = 57(mod32) . t, =
0(mod2) , X=%x (5+8 2t) =% (5+ 16¢t) X
57 (mod32) . (5+161t)°= 57(mod64)
1(mod2), x=% (5+16(1+2t))=+ (21+321%)
57 (mod64) :

x= 21,53, - 21, - 53(mod64)

&*
n

x
1]

1,2 8 3 1
3
X’= a(modm); m=2"pipz P& (a, m)=1

a=2 ,a= 1(modd); a= 3 , as

1(mods) f =1,i=1,2, k.
, (i) a=0 1 |, 2"
a=2 2" az 3 “z
1. X'= 59(mod125), x’= 41(mod64) .
2.(i) X= 1(mod m) (x+1)(x-1)= 0(modm)
, (i) (i) x’= 1(mod m)
§ 7
1] H pv

p= x2+y2, x>0,y>0

p= X +ay,x>0,y>0,a=2
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1 (k,p)=1,

Cox(x+ k) -y
2, p -
(i) (x,p) =1, § 1 X
Xx= 1(modp),0 < X < p : X
X p ) .

( X P
()

Am+1 ,(k, p) =1,

2 p
S(K) = Z Axp_+k1 |
(i) S( k) (i) S(kt') = _rt) S(k) .

X)((p - x)° + k)

z xgx+k) p_(p-
2. "2, p
=1.

(p- x)((P- X"+ K

p=4m+1,
x(x + k) (mod p),
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(p- X)((p-x+K _ x(X+Kk)
IO p ’

S(k)_zz M ,ZmZPZ-—l,
S(K)
(i) t= O(modp), — S(k) =0,

P

p-1

S(kf) = 3 —;‘ = 0,

=0

S(kf) = _rt) S(k) . ta O(modp), (t p)=1,

X
Xt p .
p-1 2 2 p-
2 X x+kt xt(( xt)® + kt
stkey = 5 X ) Z (() )
3 p-1 2
:iz —(—1XX+k_—tS(k)
P 4 p p
3 _r =1; _n :_11 r 121 ;r Ll ’
p p 2
n 121 N _Ll p
2
(rtz,p)zl,(ntz,p)=1,0<t<-pz;l. rt &

rto(modp),0 < 4 < t < _pz_l nt & ntt(modp),0 < t < t,

<J32-_1’ nt & rt;(modp),0 < tl,t2<pz'—1. n
, nt; oo , rt;
nt a rti(modp). p-1 |,

§ 3 2 :
1 p 4m+1
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p= 3S(r) + 2S(n)
S( k) 2

p-1=2p, 2(ii) 3

P(S(r))" + p(S(n)) = > (S rt’))’ + 2 (S nt))’

p-1 p-1 p-1

=§l(8(k)) ZZZ XY(X"‘k)(Y"‘k)

ZZZ xv(x+k)(v+k)
y£# X p- X, ya x(modp). y2+k=z,
(X + K(Yy +k =2z(z+(X -Yy)), (x-y,p)=1.

-1

1
i xy(X + K(y + K)

. p
. Z (X+ RN+ K
p 0 p
_ o ¢ 2zx (X oY) L,
2, p p

p
= p - X ,yZE xz(modp),

Coxy(X KV R xy « Xk
Zl p p -1 p
_ Xy
2
(p )IO
p-1 2 2
Z X _+ K k X + k=
- P

O(modp)
P (S(r))" + p(S(n))

p-1 p-1 p-1 p-1

=33 R L

x ay (modp) x =y (modp)
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P(S(r) + p(S(n)) =2p(p-1) =4pp .
2, (i)

2 2

p= 2S(r) + ZS(n) .

1 1
gs(f),gs( n)

p= X +y
p=4m+ 1( )
2
p= X +2y (1)
-2
_p =1, p=8m+1,
8m+ 3.
(1) . (1) . (x,p) = (y,
p) = 1. y yy = 1(modp) :



(x- y) +2= 0(modp),

—~
XI\.)
+
N
<wn
~
<
i

4
m, X, Yy
x2+2y2 = mp,0< m< p (2)
Mo (2) : m = 1.
m > 1,
X, Vi,
XE x(modm), y= yi(modm), | X |< %mo, | i |< %mo,
(3)
| x|, |y 0. x = 0,yn =0, m | X,
m |y, m | X +2y, m|p. m<p, m =1,
m > 1 . (3)

2 2
M < N,

INJIN

0< X +2Vyi < %+

X, +2yi= X +2y = 0(mod my) .
Xt +2ye = mm,0< m < m, (2)
mmp= (X +2Y)(X+2y) = (xx +2y%) +2(xy - xy) .
(3),
XX, + 2y = X + 2y, = O(mod my),
Xy1 - XY= X ¥ - Xy = O(mod my) .

| xXx: +2yyi | | Xyp - X Y|

2 2
= +
M p= x +2y M ’ M

112 -



2 , 0<m<p p :
my (2) : Mo , My =1,
1. (i) 1 ; (i) 2
2 2 -3 _
2 p= X +3y — =1
p
3 € =x1n=x1 T —; =€, X-gl =n x( x
=12, ,p-2)
_ 1 -1
T= 4 p 2 -¢ b n € n
€ ,Nn
8§ 8
(Lagrange) : :
: (Waring)
n : : n
, 1)
n= rmnn, (1)
7
1 nzning,n>0, N, , n
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n; 4m+3
(M m, m
m =%+ VY, m= X+,

mm=(X+¥)(%+¥%)=(XX+¥ny) +(Xy- Xn)

(2)
m. m
(i) .o 4m+ 3 ,
2 Am+ 1 . 2=1+1 §7
1 N, (1)
N : n
(iit) .o 4m+ 3 :
p=4m+3, r, pl n. n=nn
N, 28 r.
n :

2 2
n= x +y,
(x,y) = d, x= Xd,y= Yd,(X,Y)=1,n= d&(X +

Y). 28 r, p| X+ Y. p8 X, p| X,
plY, (X, Y)£ 1.
X + Y = O(modp),(p, X) =1.
81 , X XX = 1(modp),
(YX')* = - 1(modp),
-1 -1 2 m+1
—p=1. 8 3(3) —p=(-1) =-1,
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n11n2 y ’
N e
2 2 2 2 2 2 2 2
= X+ X+ X3+ X, =Y+ Y.+ Y+ Y,
Mk = (X + X%+ X%+ X)(Y+y+ Ve + Vi)
2
= (XYt XYt XYt XaWa) F (XY - Vi + XV -
x4y3)2+(x1ys - Xe t Xa ) - x2y4)2+

(X Vs - X Vi XeVs - X V) .

2
2:12+12+0+O, 2 )
p# 2,
(1) X, Y, m
1+x2+y2=mp,0< m< p. (3)
p+1
2
* 122, 92—1 .1, -1-1%, -1-2
13'_12
’-1- )
2
p ’ p . X,y ’

X= -1- y(modp),0< x< pz'—l,Os y < pz_l

1+ X +y = mp, O<1+x2+y2<1+2-§2<p2,
O< m< p.
(i) (i) p
P ;
Mo P,
Mmp=X+X+X+X,0< m<p. (4)
m =1
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&

X3

N |

2 2 2
Mo . Mo ) X1+ X+ X +

c(a) X, X, Xa, X4 , (b)
,(©) : : X1, Xo ,
1X4 . 1
Xt + X, X - X, X+ X, X - X
—X1+X22+ xl-x22+ x3+x42+x3-x42
Mo P = 2 2 2 2 ’
1
5 Mo P My : My
m > 1, m = 3, M8 (X, Xoy X3, Xa) .
,(4) me | mop m | p, 1< m<p
yl!y21y3’y4
yi = X (mod m)),|yi|<%rrb,i:1,2,3,4. (5)
2 2 2 2 1 2_ 2
O<y1+y2+y3+y4<45m0 = M,

Vit o+ i+ Y= X+ X+ G+ = 0(mod my),
Vit Yo+t Yo+ = mm,0< m < m. (6)
(4).(6) 2,2,2%,%

MMp=2+2+2+ z, (7)

(4),(5)
2 :24 Xy = Z X, = 0(mod my),

Z2 = XY - XVt XY - XYy:= 0(mod my),
Z = XY - XsVit Xy - XYy.= 0(mod my),
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Z= XY - XMt XY - %Y= 0O(mod my) .
z = mt(i=123,4). (7)

m1p=ti+t§+t§+ﬁ,

My oMy = 1,
, 2 1=1+0+0 +0
3(Lagrange)
3
1770 4
, 9 , 19
k, s = s( k)
n S Kk
(Hilbert) , 1909 k S =
s( k), S k :
S 9( k)
S, a( k) k
g(k) -1 k :
3 g(2) < 4, 7=2+3x 71
, 9(2) =4. 9(3) = 9,
7 :
,9(3) =9 :
: G( k) s Kk
S : G(2) =4. G(3)
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,G(3) = 4 G(3) = 7( ,JIMHHUK ) ,
G(4) = 16( , Davenport) . G( k),
. , G(k)
(Hardy) (Littlewood) .
G(k) < (L+e(k))k2"?,

e(k) -0, koo . (W .M .BuHor pagos )

G(k) < 6klogk + (4 + log216) k,

G(k) < k(3logk + 11) .

, k> 6 :
_ ok, 37
g(k) =2 + 5 -2.
( Dickson, Pillal, Niven) - g(5)
= 37,19< g(4)< 27 . g( k), g(4)

G( k), . k=2".m>1
G(k) = 4k; k# 2", m>1 ,G(k)< 2k+1.
k=24

M (k)
s
Xi+ +x=yv+ +¥y (h=1,2, ,k),

k+ 1 k+1

k+ k+
X0+ o+ XSTE W Yo

MQ%(k+2)
M(Kk) < (k+1) +1  Klogk .

log 1+ik
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1952 s> 5
S 3k2Iogk)

:G(2) = 4.

. f
f(x) g(x) llﬂr?oé(_%:l'
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, xX'= a(modm)

X'= a(modm) (1)

(1) m

81
(a,m)=1,m>1 & "= 1(modm) .
, (a,m)=1 m>1, % =
1(modm),
m>1,(a, m)=1,
a = 1(modm)
Y a m
a m o(m), a m
2 7 3, 11 10 . 2
11 : 7 :
5 3 6 , 3,23 ,

5= 7(mod32),535 - 1(mod32),545 - 5(mod32),
5= -7(mod3),5= 1(mod3’),
9 (3) =6.
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K, |

a= a(modm),0< k< <8,

(a, m)=1, a “=1(modm),0< |- k<d . 5 a
m , .
2 a m 5, d= d (modm)
y=y' (modb), ,a= 1(mod m)
oy .

: y =0q+r,y' =6 + r ,0< r<9,
O< r <o . as 1(mod m),
d=(a)'a= a(modm),
d =(a)'a= a (modm) .

,d= d (modm) a= a (modm) .
1 0< r,r<d : a= a(modm), r=r,
r=r, a= a (modm) . d= d (mod m)
r=r, y=y' (modd) .
2
2.1 a m o, O|lo(m).
2.2 O<a<b,(a, b)=1b=28h,(h,10) =1,
h# 1, - ,
d|e(h) .
8 4 2 3
10'= 1(modh,)
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o, 10 by

, OJo(h) .
3 X m ab,a>0,b>0, X m
b .
(x,m=1, (X, m)=1. X m
X m 5, (X)) =1(modm) .
2, ab| ®, b|d .
,ab X m , (x')"= 1(mod m),
0 X m : 2,0|b. Dbo , Db
=J .
4 X m a,y m b,
(a, b) =1, Xy m ab .
(x,m)=(y, m=1, (xy, m)=1, Xy
m . Xy m 5, (xy) =
1(modm),
1= (xy)tﬁs xlﬁyﬁz xlﬁ(modm) :
2 al|l®d . (a,b)=1, ald. b|d .
(a,b)=1 ab|d .
(xy)* = (x)"(y)"=s 1(modm) . 2
o | ab, ab>0,0>0, o= ab.
1 p a 1
(i) a"-1 a-1 2px+1 X
(i) a"+1 a+1 2px+1 , X
2 a m 5, a m ﬁ



m, : m 2,
4,p,2p(p ) ,
m , P
1 P , P
P 1,2, ,p-1 , p
p-1 ,
0:,0,, ,0:. (1)
T =[8.,0,, ,d0.], (1) g, P
T;(i)t=p-1. , g p
(i) t=dedz dc T : s
(1) d 6 =ads. (1) :
P 5 . X, § 1 3 %=X P
G 1,2, ,p-1 k Xo, %, , X, Xs
(s=1,2, k) p g:
g= X1 % X, 8§81 4 g p T .
(i) 0s(s=1,2, ,r) T , 1,2, ,p-1
(1) ., X=1(modp), x=1,2, ,p-
1, X = 1(mod p) p-1 § 4 4

81 2.1 O p-1(s=1,2, ,r), 1T|p-1.
IT<p-1. 1=p-1.



2 g " , to
(g+ pt)” " =1+ pu Uo P
t g+ pb p , « 1
d "= 1(modp), To
g =1+ pTo,
(g+pt)" "=1+p(To- ¢ “t+pT)=1+ pu, (2)
u= To- ¢ “t+pT, T t :
t Jus To-d “t(modp) . (2),(d ", p)=1.
g’ t- To= 0(modp) , t g
t - To=H(modp) . t Uo ( (g+ pb)” " =1+ pu
Uo) p
t
(g+pt)" " " =(1+ pw)’ =1+p u, (3)

W =Ww+(G)l+E)pw+ +p " w

= w(modp),
P U .
(g+pt) "V =1+ puw) =1+ p w,
(g+pb) "V =(1+p W)’ =1+ p' w, (4)

WsE WsE L= LS (modp), B w,s=1,2,3,
g+ pb p 5,
(g+ pt)’= 1(modp) . ()
(g+ pto)°= 1(modp) . g+ pb p ,
124 .



(p-1)o . 0 Slo(p), 3IP (p-1)

r-1

o=p (p-1), r 1,2, ,a
(5) . (2),(3) (4)
1+ pu.:=1(modp), pu..=0(modp) .
B U .., p=0(modp), as r, r=a, o =
e(p) .
a2 1,9 p g g+p
2p
(i) X X = 1(modp)
X = 1(mod2p) , .
X X=1(mod2p) X X =
1(modp ) . X X= 1(modp) , B X B X,
X=1(mod2), (2,p)=1, X= 1(mod2p) .
(i) g

d = 1(modp), d=A(modp).0<r<q(p) .
(i) o(p)=09(2p)

5 = 1(mod2g), g=Z(mod2 ) ,0< r <@ (2p) .
g 29

(i) g+ | (i)
4 m m 2,4,
p 2p, p
(1) n>3
£ 7= 1(mod2"), (a,2") = 1. (6)
a=2a +1,

a=4a(a +1)+1= 1(mod2’),

2
a =(1+84t) =1+16(t +4t)= 1(mod2') .
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,((n-1)-2)

a = 1(mod2" '),
g (142" ) =142 (442" )
= 1(mod2") .
, (6)
(i) m=2"prpP2 P& m , (a,m)=1,
(a,2")=1,(a, p’)=1. (i)
2502 1(modgy, i=1,2, ,k (7)

n 1 n
d’= 1(mod2"), n<2;a2**’=1(mod2"), n=3.(8)
¢ (2"), n< 2,

%(p (2"), n= 3,

h=[1,0(p!),0(p?), ,0(pH)],
(7). (8) §1
a= 1(mod m) .

m a , h<eg(m),
,m . , h
@(m) .
n>3
: 1
hs 1] o(p) = S0(m) <o (m);
k>1 , Bp,3p 2lo (pt), 210 (p?) .

[@(P1),@(P2)] <o (p)e (p2),

h < ¢(2")u¢(p°‘) = @(m);
n=2,k=1 ,0(2")=2,2|¢(p),
h=¢(p!) <@ (2)e(p)=@(m) .
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=1 n=2
=0 k=0 'k=1 "k=1
1h (p(m)! m 214’p“,2p“
m
(iii) m=2 ,0(2)= 1 2 , m=4
0 (4) =2, 3 m=p 2p 1,2,3
m : .
4 2 4
, p 2p
5 m>1,¢(m) G, %, G,
(gom=1, g m
" “=4A(modm),i=1,2, k. (9)
M 9 m .9 m o(m).
o<mq—m1<<p(m),i=1,2, K,
g™ 4=A(modm),i=1,2, k.
(i) (9) g m 5,
od=@(m).
5<g(m), §1 2.1 3o (m). ﬂéﬂl
e(m) @(m) _ o(m) _
1 ! 4175 - T3 T au g

ou.

d"=(q)"= 1(mod m) .
(9) , 0=¢(m), g m
: m=g
. 127



1 m=41, @(m)=¢@(41)=2"5 q=2,¢=5,

g'= 4(mod4l), g'= 4(mod4l),418 g . (10)
1,2,3,4
1°= 1(mod4l),2’= 10(mod4l) 3= 1(mod4l),
2= 1(mod41)
4= 18(mod4l) 5= 18(mod4l) 6= 10= 4(mod4l)
4°= 1(mod41l) '5 = 1(mod4l) '6 = 40= A(mod4l)
6 41 .
2 m=41 =1 681 . m 5

1 6 41 ,
6= 124(mod41’)
6° =1+41(3+411), | ,
(6+411)" =1+41(3+411-6 t+41T)=1+41u

u=3+411-6"t+41T. t=0 4B u. 2 6
41° . 2 6 41" (a > 1)
3 m=2x 41° =3 362 . m
5 . 3 2 6+ 41° =

1687 3 362

¢ (m)

, (9) :
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§5 ,

. P
, P Fo ( § 2 ) :
F,
F, g h=g, g h x(0< x< p- 1)
( 9 , X indh) .
( 81 ) g B
; Fo = G.
(1) 1985 (ElGamal)
: Xs B , g hy=(gs, g G
A m G B , ,1< k< p- 1,
a= ¢, b= hm, (a b) B.B ba s =
hhmg “e=m m . , X,
(a, b), m,
g h X : , Xa
(2) 1985
B m R..( p-1 ) A,
f: G- Ri-1 . G,g h=ge, g
p , X B : ' B
k,(k,p-1)=1,1< k< p - 2, a=d,
m= xsf(a)+ bk (modp - 1)
b Ry.1, (a,b)(B ) m
A A h'® &, g, B,
Xg b.
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G G

g h=9dg, g h x(1s x< | G|)
8 3 n
m=p 2p . m ,
x'= a(modm),(a, m)=1 (1)
: m .
( ) m p 2p,c=¢(m),g
m
1 y c , d
m
g m : 8§81
1
g.9.9, .d . (2)
C m : (g, m=1, (d, m)
=1,y =0,1, ,c-1, <c=¢(m). 8§ 3 (2)
m
1, m
a m g, Y

= d(modm),y= 0
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Y=Y

(a, m) =1,

d= a(modm),
g m

m ,

"(modc) ,y= 0.

mod ¢

1,

d (modm) .

g= d (modm) .
c. 81

g m
y' ,0<y' <cgc;

indsa(  inda)

y ,0sy'<c

g m
2,y=y' (modc),

, Y=Yy (modc),
) g
m
,indga=y
m Y
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4 a11a21 1aﬂ m n f

indla & a)=inda,+inda+ +inda,(modc);

inda'= ninda(modc) .

a= ¢ "(modm),i=1,2, ,n.
aa a=gd "% "% (modm) .
1
indlaa a)=inda +inda + +inda,(modc) .
a=a= =a-=a,

inda'= ninda(modc) .

(1), n

m

@ (m) :
1 p=41 . (8 2)
41 . 6 ,

1, 6= 10,6 = 18,6 = 16,6 = 37,
6, 6= 19,6 = 26,6 = 14,6 = 17,
36,6 = 32,6 = 33,6 =2,6 = 20,
11,6'= 28,6 °'= 34,6'= 12,6 = 38,
6=256=4,6'=40,6"=31,6"= 23,
6=27,6=24,6'=35,6"=22,6 = 15,
6=39,6'=21,6°=5,6=9,6 =8,

6=29,6 =23,6=230,6=13,67=7.
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0 1 2 3 4 5 6 7 8 9
0 0 26 | 15 | 12 | 22 1 39 | 38 30
1 8 3 27 | 31 | 25 | 37 | 24 | 33 | 16 9
2 34 | 14 | 29 | 36 | 13 4 17 5 11 7
3 23 | 28 | 10 | 18 | 19 | 21 2 32 | 35 6
4 20
0 1 2 3 4 5 6 7 8 9
0 1 6 36 | 11 | 25 | 27 | 39 | 29 | 10 19
1 2 | 28 4 24 | 21 3 18 | 26 | 33 34
2 40 | 35 5 30 | 16 | 14 2 12 | 31 22
3 9 31 | 37 | 17 | 20 | 38 | 23 | 15 8 7
30 23, ind 30=23;15
37, ind15=37.
33 17, 33=ind 17; 15
3, 15=ind 3.
(1) n
n
m : (1) a
m n (1) m n
5 (n,c)=d,(a, m)=1,
(1)
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X = a(modm) (3)

( a m n ) d|inda;
d.
(i) m n % :
(3)
nind x= inda(modc) (4)
. (3) , X= X (modm), %= a(modm) .
4

nindx= indx= inda(modc) .
Xo (4), 4 3
X= a(modm),
X= X (modm) (3)
(i) 1, X,
X= ind x(modc)

x, (4)
nX= inda(mod c) (5)
: §1
dlinda. (3) dlinda.
(3) , d]inda, §1 (5) d
. (4) (3) d
(i) (D) m n
0,1,2, c-1
d n % :
a m n

a%E 1(modm),d = (n,c).
5 a n inda= 0
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(mod d) . §1 d c

Ecindas O(modc) ,

o

ad
2

1(mod m)

8

X

23(mod41) (6)
,h=8,c=@(41)=40. d=(8,40)=8. ind23=36, 8x
36, (6)

3

12

X

37(mod41) (7)
, d=(12,40) =4, ind37=32. 4 ind37, 5 (7)
4 . 5 , (7)
12ind x= ind37(mod40)
3ind x= 8(mod10)
81 :
ind x= 6,16, 26, 36(mod40) .
(7) ;
x= 39,18,2,23(mod41) .
4 41
41 4 ( 5 12 ,28 ,36

1,4,10,16,18,23,25,31, 37,40,
41 4 10 . 5

40
41 4 (40’4)—10.

_ S G
6 (a, m=1, a m 6_(inda,c)'

, a m (inda, c) =1.
0 a m , as=s 1(modm) . 4
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dinda= 0O(modc) .
§1 2.1 0o ¢, 81

inda= 0 moda—C

: C c .
5 inda, 5% & inda ¢
(inda, c) .
C
(inda, o~ ©°
d=(inda,c), inda= O(modd) . d c
C. _
Elnda= O(modc) .
3,4 a’= 1(modm) . o
Cc___C
1(mod m) , OZ5 d~ (inda, 0 °
3 C
O = linda,c) -
a m , O0=2¢C. (9)
1. , (inda,c)=1, a m c,
m
6 :
7 m : 0
(%), m ,
m : o
T 6 , T m
(inda, c) = 6_C
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o
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§1

QD
n

(8)

(9)

(inda, c) =
a m

¢(c) .



a ) X m ,Ind X

(y,0) =5.0< y< ¢

y : y:6—cu, T
(u,0) =1,0< u<?d
u , T=¢(@®) .
) m : C
¢(0), ¢(c) .
5 41 : 10 a
(inda,40) = 43 = 4,
a =4,23,25,31,
4= (10) .
6 41 :
(inda,40) =1

a,
inda=1,3,7,9,11,13,17,19,21,23,27,29, 31, 33, 37, 39,
a=6,11,29,19,28,24,26,34,35,30,12,22,13,17,15, 7,

16 = ¢ (40) .
1. a,%, .6 ©¢©(m) : g m
g m qg(i=1,2, ,9)
1 1
2. 10 17 257 ( ) . 17557
16  256.

15

X = 14(mod41l) .
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4. m( m> 2) , m
So(m) .

5. g, o m
(i) indg, g indg g= 1(mode ( m));

(i) indyas indglindgl a(modp (m)) .

84 2"
n
m ,
m
§ 2 a=3 , 2
§ 2 4 2'(az 3)
a
& = 1(mod?) .
a, Z (o= 3)
22 ,
1 a=3, 5 2 7,
+5,+5, &5
4 .
5 4 5. (1) §1 2
5 27,
5=2"0s nsa-2. 5=2""7,

5 4 1(mod2’),0< m<a - 2

m,
138 -
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Un

m-1 ,

2m

2m

5 =

m-1

1 + 2m+2 + 2m+3 Um, (4)

52 :1+2m+1+2m+2um_1’

5 :(1+2m+1+2m+2um_1)2

+2 +3 - + + 2
:1+2m +2m (2m 1+um-1+2m 1um_l+2m 1um-1)

:1+2m+2+2m+3 Um,

Un=2" ' 4 Un. s # 2" U + 2" s
(4) 4 (3, 5 2 2"
5 2 2. §1 1,
55,5, 5 (5)
v Z ,
.5, -5, -5 .5 (6)
7 , (5) 5 (6)
- 5 2 , 5= 1(mod4), - 5=
- 1(mod4) . (5), (6) 2 : 2
2 =9 (2") 2) 2
l,a0 =1, 1, a =1,
©T o2az2 ©°° 2oz 2
Y Yo c G
y =0,1, ,c-1,y0=0,1, ,o -1, (7)
(-1)'5° 2’
1 a= 3 .oa=1
Yo Yo 0, (-1)°5=1 2 . oa=
2 ,(-1)'5° ;
(-1)5=1,(-1)'5=-1.
=4
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(-1)'5°= (-1)" 5°(mod2") (8)
y=y' (modc),y,.=yo(moda) . (9)
1 a>0, -1 .5
G . r, ro Y,Yo C, G :
T Y' Yo C, G . 8§81 2
,(8)
(-1)'5°= (-1)"5°(mod2") .
1 r=r,rn=r, (9) .
.
a= (-1)'5°(mod?"),
Y . Yo a 2 _
1 7 | >
Y',Yo, 0y <c0syr<o.
a 2 V' Yo, 2 a
7
y=y'(modc),yo= yo(mode)
Y Yo .
-
74 ,
2 , § 3 4
3 a.a ,a n 2 v (a),
ye(a)(i=1,2, ,n) a 2° , Zly(a‘)’



a= (- 1" (mod2"),i=1,2, ,n,

n

aa s (- DLV (mod?),

= (-1)'5°(mod2"),
= dss(mOd &5)1821721 1k1
V ’y01y11 ,yk a m

Q
Il

4 a m , a m
Y ,yo,yi, ,y'% 0y <c0sys<eG,s=0,1, k.
a m
y=vy' (modc),y.=y's(modg),s=0,1, ,k
Y Yo Y« :
(a,m)=1, (a,2)=1,(a,ps)=1. 8§ 3

2, 1 2 :
5 ( ) y1y01 1yk1
m m

x= (-1)'5°(mod2" ), x= ds(modps), s=1,2, Kk
x= a(modm) . ((-1)'50,2%)=1,(ds, ps) =1,
(a,2)=1,(a,p?)=1, (a, m)=1,
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6 i, &, y Ch n m ’y(ai)!
vo(a), ,y«(a)(i=1,2, ,n) a(i=1,2, ,n) m

n n n

, Zlv(a-),zlvo(a), ,Zlvk(a-) &

a= (-1)""%5'% (mod2"),

az 4V (modfy), s=1.2, koA oM
§ 3 4 3
85
m=2"prp2 ps(m>1) m
;GG 8 4 1
¢c=@(ps),s=1,2, ,Kk
(a, m)=1, VY,Yo,Y1, ,V« a m
P.PosP1, P c ., ,G , ,G
( P ) .
P,Pos Pk,
m
P=po=p:= =p«=1, m



§4 4

) P,Po, » P
C P,G pPo,G ps(s=1,2, ,k),
@(m) p,po, P«

1 m @(m)
x(a).,x'(a)

x(a)# x'(a) .

: ¢(m) P.Po, Pk,
m ¢®(m)
P.Po, P PP, P :
Xx(a) X' (a) : P.Po, Px PP,
Pk ; S P P's PEP . PsF P, Ps,P's
§ 4 5, a, a m y =0,
Yo=0, ,ys=1, ,y«=0.
x (a) = ps,
X' (a) =p's.
x(a)z x'(a) . p#p', p.p c>1, § 4
5, a, m Y=1,Yo= =V«
=0. X (a)z x'(a).
2 X (a) m
(i) x (1) =1;

(i) x(aa)=x(a)X (a);
(i) a= a(modm), X(a)=X(a).
(1) 1 m y =0,y0 =0, ,y«=0.
X(1) =p’po px=1.
(i)  a, a y(a),Yo(a), ,ye(a);
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v(a),vo(&), ,y«(&). 8 4 6, & &
y(a)+y(a),Yo(a) +yo(a), ,y«(a)+y«(a).

X (a1 az) :pv(a1)+v(a2)p\(1)0(al)+v0(a2) pvkk(a1)+vk(a2)
— (pv(al)p\éo(al) pvkk(al))(pv(az)pvoo(az) pvkk(az))
=X (a)x(a) .
(i) a= a(modm), (a,m)=(&,m). (a,m)>1
,(a, m)>1, X(a)=x(a). (a,m=1 ,(a, m)
=1. 8 4 5 a, & m
X(a)=x(2) .
3
_e(m), x(a) ;
Z Xx(a)=
=0 O’ X(a)
(i) x(a) : m
a, x (a) =1, Z X (a) 0,1, ,m-1 m
Zox(a) = @(m) .
(i) x(a) , : pZ 1. ps-1
:O,
(P - D (ps " +ps° + +p.+1)=0.
p=* = 0

i:x(a) =ZZ iopypyo" o}t
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4 a :
o(m), a= 1(modm),

Zx(a)z 0, aad 1(modm),
D @ (m)
(i) as 1(modm), 2,x(a)=1.
2 x(a) = @(m) .
(i) aa 1(modm), (a, m)>1
X (a) =0, Zx(a):o. (a,m=1 , a

Y:Yo, Y

Xx(a) = p’ o Pk
2. 2.° 2 2

P c , Ps G(s=0,1, ,Kk)
aa 1(modm) . a m Ys>0,
S , G>1. S Zpysszo.
G G e, €% 1 c>1),
Vo o_ d Ve — 1 - ‘SCSEVS _
Zsps—zo(e) = S o =0.
O<y.< G,e's# 1. Zx(a):o.
S Y(a) a

b (a) m y(a)

(1) (a,m)>1, Y(a) =0,

(i) w(a) 0,

() v(aa)=v(a)P(a),

(iv) a= a(modm), yY(a)=y(a).
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(1) . Y(a) m

(1) : 2, (i), (i)~ (iv)
(2) C Y(a) (1)—(iv)
(1) =1Ly(a)# 0,(a,m =1. (1)
(i) a W(a )z 0. (ii)y(a) =
w(a)p(l), ¢(1)=1. (a, m) =1, d d a=

1(modm) . (iii), (iv) @(1) =1 p(a)p(d) =y(ad) =
P(1)=1. (a,m)=1

P(a)z 0.
m a , §3 3 a
m , a a m
(iv) 2
«(a) (22 _ x(a)c x(a)
S a2 baa = ()Y via);
X (a) m ;Z a
x(a) , Xx(a&) _ g
2. p(a) L y(a) -0
X (2) :quf(%:o,xw):wal)( m
al) . X(a)
x(a)
2 w(a)” © (2)

H=Y 3 S =0 3)
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X

m a

x(a) _ 1 _
$(a) " p(ay2 XA =

@(m),
0,

4 (1)

a= 1(modm),
aad 1(modm),

_ x(a) _
=22 y(a - *(M=0.

(3) X (a)
X (a)
g (a)
1 p p
2 = 1
p p
?
a(p) < kp,
€ k p
a(p) < 2'p”
r o(p)=p-1
>1, p : p n

r(p) < p°(logp)’;c= 2e

(2)

x(a) w(a)
Y

5

( g( p))

: Y
n
p nfp-1,n
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, d

1

0(mod4) ,



81

a __IO‘,1< k< n, 1

(1)

(2)
(3)
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Px
- &, &, & , A+1,
O
, , (3)
pa P aatl ps (aa +1)+ a
o 1 o s (4)
o G & 0 xaa +1
P. P
1 a-11 ] ] _!_1 ]
[ * a] G G
B
G’ ’
pr= &, p=a&a+l, = apPe-1+ P2,
M sk n. (5)
d=1,0¢=a, = a&b-1+ G2,
k=1,2,3 , (4) (5), (5) k
b _ _ 1
q( _[a-ia~21 1a<-11ak] - a11a21 ,ak-l+ a

1
a +t -2 -3
& a P27 P g (anpet pos) + pe

&(a-1G-2 + Qes) + G2’

1
&1t ; Gk-2 + G-3

Pc-1 = Q-1 P-2F Pe-zy Ok-1 = Q-1 O-2 + Gk
P« = &Pc-1t Pe2, Gk = &Gk-1 + Ok-2 .

(5)
P«
2 &, &, ,a n —, k=
[ ] a
a =0( &ag +1=
P P
0) 'Q2 0] . % %



1121 H nl

PG - PeiG = (- 1) (k= 2), (6)
PG> - P2 = (- 1) a, (k= 3) . (7)
(i) k=2 ,(6) .
Po - pe=(aa+l)-aa=1=(-1),
PtGeo- P2Goa=(-1)"7, 1,
Pk 1 - Pe1 G
= (a1 Po2)Gor - Por(@bes+ Goo)
=P2Ger- PerGee= - (1) T =(-1)".
, (6)
(i)  (6) 1

PeG-2 - Pe-2COk=(a&Pe-1+ Pe-2) Q-2 - Pr-2(@&G-1 + Gk-2)
—a(Pei1Gez2- Pe2G-1)=(-1)"""a.

a,
( )
& y &, dg, , &k, )
[al,az, y A, ]
’ a ’ y a
Bora, al.k=1,2, |, K- o0
Ok
P
Ok ’
1,2
3 [, &, ,a&, ] ( )
P«
,—(k=1,2, :
0ﬁ( )
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(1) k>3 , 0= g1 +1, k , 0= k- 1;

Pzck- 1) > pzk’ Pak-1 S pzk-a’ p2k> pzk-1;
Gk-1) Gk Qpk-1 Gk-3 Gk Gk-1

(i1)

U 0
i) —, k=1, 2,
(iii) a
(1) 1 g 1, a= 1, k= 2, k> 3

q(: aqu—1+ q<—22 q(_1+1.

a=1>0,p=a=22-1, (1)
(i) (7)
P2 « Py (- 1)2k_lazk - bk <0,

G« ) Gk OpwCeck- 1) - G kCk-1)
Pok-1 Pek-3 (- 1)2k_2a2k-1 >0,

Gk-1 Cpk-3 Gk-1 Gk-3

P2 « < p2(k-1)’ Pok-1 > Pek-3 .
O « k-1 Gk G«-3

(6)
P Pes | (1)
G« G2 Gk 1 -
P2« S Pak-1 .
071" Gk-1
(i) (6) (P, g)=1.
4
[a11a21 1ak1 ]
pp B
’ql’ Q’ ’q(’
3
P Bs Pok-1
ql’ q31 ' qzk-l’
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P P Pk
qzl q4’ ’Qk’
, 2,3
P2« Pok-1 1 1
< - = < —
O < 4y "G T Gge. S (2k-1(2k-2) " Y
&’& (k=1,2, ) , Iimﬁ :
Gr-1 Gk k-o Ok
a -1 0 0 0 0
1 a -1 0 a -1
0 1 & 0 0 0 1 & 0 0
1q( =
0 0 0 a1 -1 0O O 0 a., -1
0 0 0 1 ax 0O O 0 1 a
r
S
rot o+t rt o+t
S u u - s’ + us st + uu
& 1 1 P« Pz
- k> 2.
1 O 1 O 1 O Ok Gk1
8§ 2
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, a , a =
r r
Ea = ql+_k;’ O<_6<1
= = Lo log g1
Il - G ry’ r & = ,
rn—2 _ + n 0< rn <1 > 1
rn1 B qn rn—l, rn—l ’q1_ ’
M-1
r = Ge1, Oh+1 > 1.

a
G:F:[ql,qz, ,qn+1],qn+l>1,

a : oa=Ja]+{a},0<{a} <1
1
o =0, +—,a =[a],0, = — > 1,
Ve T labe T g
01 = &+, & [0(]0(—1>1
1 - a, 1], 2_{u1} y
ak-]_ = a<+a_1k1ak: [ak_l]’ak:{a:kl-.l} >11
a=[a,a&, ,a,0 . 81 1
o,a +1 a + P
azll—,a:M,k:Z,s,
a; Ok + G-1
1 .
a 1 a (2) 1
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lim[al,az, &l = a. (4)

g . P_aptps po_ (1) (5)
Ok O+ Ger G Ge(OOk + Gn)
Ok > &k+1, OOt Gk-1> Ch+1 - 81 3
P 1
a - a < —k(k- 1 -
1 P _
K- oo ’k(k-l)_’o’ ILqu(—a, (4)
a = [a11a21 1a-k1 ]
(2) a=[aw.1]=2 1( k= 2),
1
N D TR - G i TR
G OkOk+ 1 Ok O«

0«<1,0<0k<1.

< 1 < L <i, O«,0'
Ok + Ck-2 Ck+1 Gk

Ok > ak+1, 0

1 :ak:%,0<6k<1,0<6'k<1
OOk + Gk-1 O+ 1 Gk
, (5)
2
a ) a )
a
Oo = [&, &, ,a&, |
Bo = [b,k, ,b, ]
) ak:b<1k:1121

155 -



=[a4<+1,ak+2, ]1Bk:[b<+1’bk+2’ ] :

1
Gk: ak+1+m,uk+l>1;8k= +l+Bk+1 Bk+1>1
A1 = [C(k],b<+1 = [Bk], (6)
0o =P
a = [0o] = b,
o: = B: .
ai:h1 ai:BJ1j:1121 ak(k22)1 akaBk
ao,Bo, A+1 = b<+1 ,ak+1 :Bk+l, ’
k,a<=bk,
3 (i) —g‘-[al, . Lal=[b,b, ,bJ, a>
1,b,>1, m=n,a=b(i=1,2, ,n).
(ii) Y ,
a
E_[al1a21 ’a“]:[a-la21 -11]
an > 1( 2 : )
4 a ,B a k
Ok
B
< G r , 0<q
G s
a- X< a-i". (7)
O q
G:E, CX»""‘-B
O Gk
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pk+1

. k+1 ,
qk+1
B< P+ 1 pk+1<ﬁ
qk Q<+1 q<+1 q<
(i) 0< 0= G,
b B B D (8)
q O Ck+1 q
pk _E pk+1 pk+1
-— < < — _— y < k+ 1 § 1
G a4 G Ges "=l
3). P« . D Pes
G 4 Gos
b P P& - A 1 Per P
a o S T R

( P%k-0dp>0,0G.:0- G21P>0), Gt G>g

Ger G O%Ges OkQ1

§ 1 2 , (8)
. Pc  Prrs
i 1 - <
() qk q<+l
Booge B
Ok Qe+
LBy , Pt D
q " O+ 1 q
RS
q q<+1 q qq<+1 q<qk+1
, 1
a B L :
Ok Ok Ck+1
(7)
1+ 5
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1+ 5=1[3,4,4,4,4, 1,
a=1,66=4,¢=17,=72,¢ =305, . =3, p. =13, p: =
55, p. =233 . 1

‘1+5_233‘< 11
72 | = 72x 305 < 10
233
72
(370—447) 272( )
n , (429—500) 2200
m ,
1000 . T
n = [3,7,15,1,292,1,1, ],
Tt
3 22 333 355 103993 104 308
1'7'106' 113’ 33 102’ 33215 '
T . 4
T . 1
‘" - 333| < x5 1E 1%)6’
29 . 359 _
113 1113

3.141592 9 Tt
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’ 11 , .”(
: ) ( )
1
1. 13,2(5+1)
2. sinl®
3.« a=[a,a, ],N . N
, K , N g.< N
:n< 5k+ 1.
8§ 3
(
)
[al,a:21 ,an; ]1
= 0,t>0
&+i = &+kt+i, I = 1,2, ,t,k = 0,1,2,
[a, &, ,&, &1, , &1 .
[, @&, ,a, ] :
anz[an+1,an+21 ] GS:aS+ktlk:011121
1
a=[a, &, ,a&,a:, ,8: ], =1, &2, |.

s=0, § 2,(3)

ap: + P

a :th+CIt-1’
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@’ +(G:- p)a- p: =0. (1)
s>0, § 2,(3)
OsPs + P1 Ospet + Poeca

OsGh + G-1 OsChet + Cheros

g = T %a0 P - GO F Pecs
- P GO - P

(GO - Poc)(- GaO + Pos) = (0 - P)(- GeesO + Porrr),
(G+Gr = GeeaG)O + (Poccn G+ PG -

Por tCb-1 = G tPscn) O + (P e - Prer ) = 0. (2)
a , . (1),(2)
1 .
2 f(x) = ax’ + bx+ c
o  f(x)=0 , a
f( x) , . §2 1,a

a=J]a,a&, ,a, |.

On=[ @+, @n+2, |, 8 2(3)
0Pt Poa
a= O + Qo1

a12+hn+c=0,
Adn + Ban+ C, = 0,

A, = ap, + bp.g. + oo,
2ap Py + B(PuGhor + Poci G) + 2C0hGh-1, (3)
apzn.l + PPr-1 Oy + qun-l .

W
I
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Ay + By+ C =0 (4)
. (3 8§81 2
B, - 4A.C, = (b - 4ac)(paGh-1 - P2 Q) = b - 4ac (5)
§ 2 1

0.
P = aqn+q—,|6n|<1-

(3)

en2 en 2
An:aaqn+q— +baqn+q— O + COn

0%
(a”°+m + )y +2a00, + a— + 1B,

o8

2

0,
=2af, + a5+ 19, .

| Al <|2a|+|a|+]|b],
(3) G=A.1,
| G l<|2a |+|al+| b].
(5)
| B.|s 4| AC. |+| b - dac|
< 42| a |+|al+|b]) +| b -4ac].
a, b, c,a , A., B., C

(A,B, &), ,(A,B, GC),
M, N, f(Mm< < )

A, = A,

1 2 3
B. B,

3
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G =6G,=¢G =C.
(4) On O, 0o
Ay + By+ C =0
£( x) , (3), Az O,
O, o, Oln, , On =0 .
a Nop : § 2

d=[a,&, ,&,as,

On=[@n+1, Bns2, ] .

1 P, Qn
a _ d + Pn PZ
n Qn ’ n
§2(2) §2 2
d-[ d]
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,&+t]’

(1)

§ 3

(2)



d+[ d]

2

a, =

d-[ d
P.=[ d],Q=d-[ d], (2)
Po, Q ) o = d(;; Pk, szE
d(mod Qx) : 8§ 2(2) 8§ 2 2
Ox = Ok+1 + L .
Q« _ d+ (ak+1Q< - Pk) (3)
U1 = - 2 )
d- (& Q- F) {d- (a2 Q- P)} &
d- (a1 Q- P) ) _
Pior = a1 Q- P 1= (akQ? . Pc=
d(mod Q)
(a1 Q- P)" - d= Pi- d= 0(modQi),
Q1 o Qe Py
Pi+1 = d(mOko+1),
(2)  k+1
2 d ,Q, 1

X - dy = (-1)"Q, (4)

§ 2(3) 1

_ 0Pt pos _ po( d+ P+ paQ

AnQp + s w( d+ P)+ ¢..Qn
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dog + d(gPo+ 6.2 Q) = PP+ P Qo+ dp. .
d :
P = Py + G0 Qu,dgn = PP+ paoa Q,

Py O
Pr - oy = (PeGhr - PraG) Qo= (- 1)'Q .
(4) | Pal, G, (Ip], o) =1.
d=la, &, ,&, &1, ,a&t),n>s, Q
1 . (4) v P G,
2|1, 1= 0
2 (4) o e
1
o = d+Pn= d+Pn+.t’

Qﬂ Qn+ It

Qn+ It d + PnQn+ it = Qn d + Pn+Ith .

d ;o Q= Qo 2 2|
Do - dofoere = (- )" "Quew = (- 1)"Q, .
3 d , (Pell
)
X - dy2 =1 (5)
2 , Q ( Q=

(-1)"Q., n>5s)
X - dy = Q
X1, i, X2, V2
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Xt = X (mod| Ql), = y(mod| Q) . (6)
X, - dyi = Q, % - dy, = Q,
Q =(X - dy)) (% - dy)

= (X% - dyiy) - d( XY - X Vi) . (7)
(6)
X X - i e = X - dy;= O(mod | Q ),
Xt} - e 1= XaYi - Xy = O(mod | Q ),
X1 Xo -Qdylyz = X, xlyz(-gxzyl -y, X,y
(7) x,y (5) :
xz 0, - dy’ =1, d>0 ; y#z 0,
1Y, = X Wi,
2 (X, Y1) =(%X,¥) =1, X1 | X2, 2| o . X >0,
% >0, Xu= X,¥% =Y, Xi, Vi . X,y (5
4 X, Yo (5) , X + dy
x+ dy(x,y (5) ) , (5)
X, Y ;
X+ dy=(x+Yy d",n=1,2 . (8)
(i) (8) X,y )

X - dy =(x+ dy)(x- dy)
(% - dy)" =1.

= (% + dy) (% - dw)

(8) X,y (5) :
(ii) (5) X, Y, n :
X+ dyz (% + dy) . r

r+1

(% + dy) < x+ dy< (x+ dy)
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1< X+ VY d< %+ dy, (9)

X+Y d= s dyrz(x+ dy)( % - dys) . (i)
(X0+ dyo)
X - dY =1. (10)
(9). (10)
0<+<+:X-Yd<l. (11)

X + dy X+Y d
(9), (11) 2X>1, X>0. (9),(11)
X-Y d<l1l< X+ Y d,

2Y d > 0, Y > 0,
(10) X, Y (5) . (9) Xo, Yo

1.%,Y 4 . (5) X,y
X+y d=x (X+Yy d",n=0,%1+2,

X +(x+1)7°=7

X = %{ (1 + 2)2n+1 + (1 _ 2)2n+1 _ 2}’

_ 1 2ne1 i 2n+1
z= 2 1@+ 2) (1- 2)},
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FLT :

: e( ) Ti(
) [13 ”
§1
&
X"+ axX '+ + a..x+a =0, (1)
& : (1) ,
n, ¢
n ,
i = -1,w:%(-1+ - 3)
X +1=0,xX +x+1=0.
i 0 -2+
y ) p 4
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() ¢ : 1

f(x) =0, f(x) = X +ax + + a,

f( %) . f(x)= fi(X) R.(x), f(x), f2(x)
n, . f(€) =0 f.(€) =0,
.(§)=0, ¢ , f( x)
& 1 g( x) =0,
: h(x), r(x)
g( x) = f(x) h(x) + r(x), r(x) f(x) :
g(¢)=1E€)=0 r(€)=0, f(x) r(x) =
0, g( x) = f(x)h(x) . g(x) : f(x),
9( x) 1, h(x)=1, f(x)=g(x).
(i) ¢ , (1) f( x)
&
F(X)=0,F(x)=X+aX '+ +a.
f(¢)=0, f(x) : (1)
q( x)

F(x) = f(x)a(x) .
fF(x) a(x) :

f(x):—Sf*(x)z—g‘(d ta X+ +ay),

1

C ~ (o * m *  m- .
G0 =S4 () =S(¢ X+ d X ),
& ,a , ,an %, G, ,On
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(a, b) =(c,d) =1, m=1- n, (iii)
£ (x)d (%) ,
bdF( x) = acf (x)q (X),

bd, ac,
bd = ac,
F(x)=f (x)a (x),
f7(x) F( x) 1. f(x) f (x)
—;‘:1, £( x)
(iii) (ii) f(x)q (x)
p , & Qo -
Jar, G (r,s 0) f(x),q (x) p
O, ,&-1;, G, , (s P , ar ,
O p - f(x),q (x) , r,s
f(x)a (x) S
&G +a .10+ F Ae1Qt
p - f(x)q (x)
; N S (00, 9%
X , g(¢)# 0) K(E ),
K(E) , K(E )
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2 3 k(&)
m k(€)= k( m),

k(€ )
a+ b m (2)
, a, b .
(i) § ,
X+ ax+a=0
=%( at n), n=a
4a : : k(€)=k( n) .
n r]:—g, n=-— rs,rs
rs=t m, m
L t£ 0,
_
n=-5 m
<20, KkE)=k( n)=k( m).
(i)  f(x) , ,
f(x) = (X - mq(x) + (bx+ a), (3)
X = m f( m)=a+b m, k(&)
Yy, () k(C m) (3)
g m  a+h m_aae-leerazb-albz
y_h( m)_@+|o2 m a-bm & - bm
y (2) . (2) k( m)
k(§)
Gii) (i) k() (2) , a+
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X -2ax+ a - bm=0, (4)
k(€) :
¢ . k(&)
2 , k(" m)
3 m : k( m)
a+ hw (5)
, a b :
m, ma 1(mod4);
W = 1
E( m-1), m= 1(mod4) .
13 k( m) : 2,6, =a+b m,
a b , & (4) ., ¢
2a a-bm , 2a=A,a -bm=
C, (2b)y’m= A" -4C . b , 2b
, 2b:—;,s>0,(r,s):1, (2b)> m g|r*m,
(r2,32)=1 sz|m. m , s=1, 2b=8B
§
_ 1
£ =>(A+B m), (6)
1 2 2
A B , Z(A-Bm=C
A B : , A B
B A . A B , A= 1(mod4d),
B m= 0(mod4), A - B m= 1(modd), B(A - Bm),
C . A B , A - B m= - m(mod4) ,
m . B m, B8 (A -Bm)), C
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A, B

>,
i

(1) ma 1(mod4) ,A B
1(mod4) , B°= 1(mod4),
A - B m=1- m(modd),

41 A’ - B m, 4l m-1 . A B
(6) ¢
E=a+b m,
_A ,_B
a—2,b—2
(i) m= 1(mod4) , A B
A -Bm= A - B=0(modd),
C . (6).8
=>(A+B m),
A B
e=f e mo=2( m-
A+ B
> A, B (
), k(. m)
a+,w=2( m-1)
a,b
(1), (ii)
k(  m)
R( m)
&.n  k( m) 3



Ezat+hw,nN=a+hbw.

&£ n k( m) ,
ma 1(mod4);

3

- W, m= 1(mod4),

(aa+bbm+(ab+ ab)w, ma 1(modd),

;= aa+T=bh +(ab+ab - bh)o,
m= 1(mod4) .
&n k(' m)
k(i) a+ bi, a, b , k( -5H)
a+b -5, a, b k(. -3)
at—( -3-1) a, b
§ 2
R( m) R( m)
R a R,B R( a,B R
),B# 0. vy R

173 -



R( -3) .2+ -3 Tl o(x -3x1) R(
2+ -3 2 31%(
1
3 3),+5( -3-5)
kk m), &=a+b m, |a - b m| g
NE) .
N(@En) = N(E)N(n) .
§ N (&)
1(modd), E&=a+b m, N(@E)=|a -bm]
= 1 (mod4), & = a—Eb +§b m, N (
az-ab-bzmT'l N (E )
¢ =0.
1 ¢ R( m) N (€
e R( m) , &' =1, (1)
N(E) N(E")= N(e'")=1.
N(g) N(E") : N(e)=1.
N(e)=1, e€=a+b m, ¢ =% (a-
ee’:i(az-bzm):|a2-b2m|:1.
e
X -2(+ a)x+(a -bm)=0.
€ 2a,da - bm g'
€ R( m)
1
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a,p  R(C m) , N(a)# N(B),

a,pB
R ,a R
a R R
a R : a R :
2 2 R( -5) , 41 R( -5)
(1) 41 =(6+ -5)(6 - - 5), N(6+ -5)=
N(6- -5)=41, 41 6+ -5 , 6+ -5
41
(i) 2=(aa+ b -5)(a+h -5), a +
b -5 a+hb -5 : § 1 3, &, &,
b, b , (1)

4=N(2)=N(a+h -5)N(a+h -5)
=(a+5b)(a +5h) .
a+5b# 2, a+5bi=4 1. a&+508=4, a-+

b -5=%2 2 , a+5b=1, a+h -5
2 , 2  R( -5)
2 a R( m) : az 0,
a R( m)
a a
a =0,
a.,0, , (1) 1
N(a) = N(a:) N(a2),1< N(a:) < N(a),1< N(a:) < N(a),
N(a:), N(a) , 01,0
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R(C m) ( )

6=2 3=(1+ -5)(1- -5). (2)
(i) 2 2 R( -5) | 2

3 R( -5) . 1+ -5
R( -5)

1+ -5=(a+hb -5)(a+hb -5),

(1)
6=(a +5b)(a+5b) .
- 54 1(mod4), §1 3,a,hb, &, b :
a +5b 1,2,3,6, a +5b# 2,3 a+5bh=1
6. a+5b=1, l,a+h -5 R( -5)
, a+h -5 1+ -5 . a+5bh =6, @&+
5b =1, a+h -5 , a+h -5 1+ -5



1+ -5 1+ 5
R( -5) . 1 - 5 R( -5)
(ii) N(2) =4, N(3) =9, N(1z 5) =6
(2)
(1), (ii)
3 R( -5) (
)
R( m)
R( m) a,B(Bz 0)
R( m) y .o :
a=yB+0d,N(d)<N(),
R( m)
R( m)
,  R(C m)
( )
3 R( 1)
a,pB R( -1) B#£ 0. 14

1(modd), a=a+ ai,p=hb+ bi(i=

S
B’
' a‘lbl+&b2 &bl'albz
y = 2 2 + 2 2
bh + b b + b
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d_a1b1+aqbz d_agbl-albz
TBeB %7 b+eb

G G
|c;-c1|s%,|cz-cz|s%. (3)
Y=G+Gi,d=a-yB, (1),(3) §1
a=yB+06,0 R( -1),
N(@)=NB(" -v))=N(B)Ny -v)
=N@){(d-a)+(¢-e)}
<2 N@B)<N@B) ( Bz0).
4 a R( -1)
a ( ) R( 1)
( )
m<20 R( m)
5 : m=-1,-2,-3,-7, -11
R( m) , ,R( m), m<0,
(
R( m), m>0) : m= 2 3(mod4)
m= 1(mod4)
: 1938
(Erd s), (Heilbron)
: m
1948 ( Chatland)
(Davenport) :
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R( m) 16
m=2,3,5,6,7,11,13,17,19,21,29,33,37,41,57,73 .

1. C()R( -1) 4 (I)R( -3) 6 ; (iif)
mz -1,-3 m<0 R( m) +1
2. : 6 R( 10)
3. 4
"4 m 1 R( m)
8§83 n
n )
1 & n :
Y
q
‘E--Qs 1 . g>o0. (1)
q q
& n , & n
f(x)=axX +ax '+ +a=0.
€1, &1 f(x)=0 : min( & -& |,
|En-1'E|11)=p, p>0
(i) 5:a>0. (@),
—E- >
2] s
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= ——, g
p
(ii) o<|2-t|<p, g0, L2 zo,
q q
‘fﬂ ‘:Iaop”+a1p”'lq+ +adq |
q q -
P _. D _ D
f = f - f = - f
q q &) q ¢ f(x),
x 2z . f(X)%0.
q
M = a-pgngxzm | f'(X) |,
(2),(3)
D . ‘zlf(pd)l 1
‘q T (01 2 Mg
(1) = M q
(i) , (i) q , ﬁ (1) .
£ 1
a, p g (D
P g>0 1) .
q,q : (1)
1
a a
a, n
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. a
n (1)
I |
& = 1o
Z 1k! :& . N! n> N !
-1 10 Gh
e 1 2 2 1
< - — = ,< n+1‘= n+1< N+1
0<¢ -4 = .2, 10" 1077 i X
1 € N : &
1 (J .Liouville) :
1908 (A .Thue)
& n= 3 ,
] It
‘E q q -
v>(n2)+1 pd(p,q )
1921 (C .L .Siegd) : v>2 n .
1955 (K .F Roth) : v =2
+0.,0 >0,
Thue-Siegel-Roth
_ <« 1
1. E— ZO a.n!I a 1
2. § =[1,10,10°', ,10"", ]
84 e
: e(
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=
™
—

1 e
P S 5 1 .11 1
e=l+ivot ot STttt
+ 1 1+ 1 + 1 +
(n+1)! n+2 (n+2)(n+3)
nle=1,+ R,, (1)
_ 1.1 1
hEnt Iyttt ’
1 1 1
Ry n+1l+n+2+(n+2)(n+3)+
n=> 2
1 1 1 _ e
O<Re<Tialynitor “he1<t?
a
e<3). e . 8=, n>b ,(1)
, , , €
18 ,
an
a : n v )
n!
n>2a |,
a.n a a a a a 1 n-(2[ al+1)
—_ = —=. = : —— < M = ’
nt 1 2 2[a]+1 2[a]+2 n 2
a a a
M=— — — : e >0, n
1 2 2[a]+1
n-2[a]-1
vl
a <¢
n!

182 -



2 T .
(1) f( x) 2n

n

J’ f(x)sin xdx = [F (x)sin x - F(x)cos x]o,  (2)

F(x) = f(x) - f7(x)+ f2(x)+  +(-1)"F"(x).

@ (x)
I @ (x)sin xdx = [@ (x)sin x - ¢(x)cos x];

;[ Z(p(z)(x)sin xd X . (3)
f( x) (3) n+1
I :f(x)sin xdx = [{f(x) - f7(x)+ f7(x)+

(2n-1) (2n+1)

+ (-0 () + (- 1)
S{f(x) - 7 (x) + FU(x) +

(x)}sin x

(- D1 0yoos (I + (- )] 177 (x)sn xdx.

(2n+1) (2n+2)

f(x) 2n C Y () = 19" (x) =0,
2) .
(2) n=m

I f(x)dn xdx = F() + F(0) . (4)

(ii) 1 , T o= Ba, f( x)

(4)
- b

f(x) = X282 (5)
n "n!a <1 (6)
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( , n ), f(x)

(a) f(x), f(x), ,f""(x) X=0,7 0;
(b) f7(x), "7 (x), ,f"(x)
x=0,—§1
(a), (5) f( x) >
n, f7(x) (j=0,1, ,n-1)
f7(0) = 0. f—t")’1 - x = f(x), 7 E"" - x = (%),
(i a _
7 4 =0,
(b), X n+v k< n+v
0, k= n+v,v=>0
k(k-1) (k- (n+v)+1)x "
(n+v) ! , n! P (x)(j= n)
f(i)(o) ’ f(J)(X) —
p o a Hp a
f() b - X ’ f() b
(a), (b) F —;‘ + F(0) 0 <
X<Ea=T[
0< f(x)sinx<7%. (7)
(4), F@m) + F(0) . Fm)+ FO)= 1. (7),
(6)
Ir;f(x)sin xd x <T[n!a <1,
(4) , T
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3 e _
() f(x) n

F(b) = e'F(0) - f :f( x)e “dx, (8)
F(x) = f(x) + F(x)+ + f7(x). (9)

¢ (x)

] :CP(x)e'de =- [o(x)c 1 o :(p'(x)e'xdx. (10)
f(x) (10) n+1
I :f(X)e'de = - [{f(x)+ f(x)+ +
o ooye 1 f 1 (xe dx.
f(x) n . (0 =0,
J :f(X)e'de =- [e "F(x)]0 = - € "F(b) + F(0),
(8)

(i1) e , e

G# 0. (8)

Z_mo GF(k) = I:(O)Z_mo Ge' - io Ckfk :f(x)e‘ “d x

= - Zm QF :f(x)e'xdx. (11)
F(x) , (11)

(i)
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1
(p-1)!
p m G , (%)

(a) f(x), fF(x), ,f""(x) x=1,2, ,m

f( x) = X T(x -1)" (x- m)°

(b) f( P)(X)’ f(P+l)( X), ’ f((m+1)P-l)( X)

P .
(x- | f(x),h=1,2, ,m, f(x), ,f""(x)
x-h | f(x) (@ . (b)), X' p+
Y . k< p+v ;. k= p+tv(v=0)

k(k-1) (k- (p+v)+1)x """,
(p+v)! : (p-1)! p
(a) (b)
F(1), F(2), ,F(m)
, p : F(0),
F(0) = f(0) + f(0) + + f"7(0)+ f"7(0) +
f(P)(O) + + f((m+1)p-l) (O),

p-1 0( f( x) p -
1), p + 1 p , "7 (0)
((- )"mH°x""
(p-1) p-1

f770) = ((-1)"mn°.
F(0)= ((- 1) "m1)°(modp),

Z GF(k)= GF0)= ((-1)"m!)"C(modp) .
p>mp>G, p , pl (- 1)"mic,
Z GF(k)a 0(modp) . (12)
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P ,

m

‘- Z ckf f(x)e "dx
x 0 m , f( x) Xx-h,h=0,1, ,m

m,

<1. (13)

1 (m+1l)p-1

T 1= oM

0< ks m

ﬂ :f(x)éxdx

,0< X< m.

k ) m(m+1)p-1 k ) (m+1)p-1
SI 0| f(x) |e dx< m’-!oe dX<(p_—1)!.

M=1GIl+] G|+ +]GC],

Zm Qf Okf(x)e'*dx

m

2.

qfk :f(x)e'xdx

m(m+l)p-l (m+1)p-1
< C em— = Mem— .
2, e o (p-1)!
o m(m+l)p-l
’ — 00 1Me T AN .
P (p-1)! g
, (13) , (12),(13) (11) . e
8§85 T
1! e )
Tt )
ax"+ ax '+ +a,=0,m=1,a%z 0 (1)
Wi,W;, , Wm , a; ,d,, , On
W, W, ,Wm, W + W2, 0 + W3, , Wm-1 + W, )
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W + W, + + Wn (2)

) al,, Az, , dn
(2)
m+ m+ + m =2" -1
1 2 m
01,02, ,0n,0n1, ,02m, (3)
, Oper = 0pep = =a,m.; =0. f(a, a,, ,an,)
g, &, ,a, :
, fla,, a,, , an,) a,, M., , ;oM
) &y, d2, , Ao,
&y, Do, @, Dosr, ,dm :
a,, av, , adn . f(a,, a,, ,an,)

O, = Zl aw; ,0, = Z‘(ani)(apj), ,On = (am) (&) (aom)

I

, 01=- a&,0, = aa, ,0n=(-1)"a" au
,  f(an, ae, , an)
T :
(i) T ,
dnt” +dn”" "+ +dy =0,db# O
d, d, , dnm ;

{d(m)" - d(m)™ "+ }+
i{ d(m)" " - di(im)" T+ } =0,
(b(i)" - &@m)" "+ ) +
(d ()" - d(im)" "+ ) =0,
i ( &z 0),

ax" + a X"+ + a, = 0,a > 0,
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W, = M,0, Wn. 1+et=1+¢ =0,
(1+e1)(1+e?) (1+em) =0.

C+Zle“k:0, C>0, (4)

01,02, ,0n , C-1 (2)

(i)  f(x) | , e f(x)
(8) a(k=1,2, ,n)
F(a) = €F(0) - Zkf(x)e' “dx,
F(x) = f(x)+ f(x)+ + f(x),
0 (0 4% ) (4)

CF(0) + F(a.) + + F(a,) = - Zﬂ (?j‘k :kf(x)e'xdx, (5)

f(x) , (3)
(iii)
(0 = 5 _11) (ax)"'{(ax- au)(ax - a;) (ax- a)}’,
p > max(a,C, | ania: o |), (p - 1) 'f(x)
ax : 3 , F(x)
(@) f(x), F(x), ,f"7(x) x=oa,0, ,a
(b) f(p)(X), f(p+l)(X), ,f((anl)P-l)(X) ax
: P
(a)
F(O(k) — f(D) (Gk) + f(p+l)(dk) + + f((n+1)P'1)(ak) .
(b), F(ax) i : p
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np-1

Faw = IOZO b(an)" .

F(O(l) + F(az) + + F(Gn) = pzo b Zl(wk)t

n

Zl(aon()t (t=0,1, ,np-1) . Zl F(a)

n

Zl F(ax) = 0(modp) .
3 F(0)= (-1)"d" (an
@: an) (modp) .
CF(0) + F(a.) +  + F(o)
= cad ((- 1)@, a, a,)"(modp),
p>max(a,C, | & & anm]), (p,a) =(p,C) =

(p,an- a, a,) =1,p} c&'((-1) a,- a, a,)’,

CF(0) + F(a:) + + F(a,) & O(modp) . (6)
M= max(|a. [, |[a: [, ,[a.]), | x|<
M
|a|(n+1)p-1Mp—1(2M)np
f(x) |
(%) | TR
le "< e'< e".

| x
e

np (n+1) p-1 (n+l)p
2 a M

(p-1)!

M

S

J‘ “f( x)e *d x

<

ok |[£ M.
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(n+l)p
np_(n+1)p-1 2 M M
< 27a —_

Zn g‘ :kf( x)e *d x

(p-1)
y p—> o0 , ’ p
Y. g, foetdx| <1, (7)
(6) (7) (5) ,T
T[ y 13
1 , TT .
, X
X2 =TT, X = TI
, ( )
) 1 1 , , , (
] TT ( T
, T ) .
1900 . B
,G O l ,GB
1934
(FensdoHp ) (Schneider) o
e ( é=(-1.
. log 3
sin 1, log 2,|ng,
af,a" y = lim 1+%
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1
+n-Iogn

; Y
1. snl
. . log 3
2-(1) log 2
. log 3
(i1) log 2
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(1)
(i1)

F(x)

§1

f(x)

a f(a) # O;

i, &
flaaa) = f(a) f(a)

A _ , a=1;
(a) = 0, az 0.
E(a) = &

(Mobius)

I x]{x}

193 -
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w(a) = (-1) r
0,
u(a) : (i) . a, &
1,
(1) : a = pp p,a =
4% G P, P2, P O, G, G

(a,2) =1, p# qg.
H(aa) =(-1)""=(-1)(-1) = p(a)u(a).
u(a)

(1) =1, W(2) =-1,p(3) =-1,u(4) =0,
H(5) =-1,p(6) =1, u(7) =-1,pu(8) =0,
b9 =0, p(10) =1, p(11) =-1,

4 o (a) ( 8§ 3

4 ) .

5 m ( 8§85
2) .

6 r(a)

a= X +Yy
r( a) : r(2) =4,r(5 =

8, r(10) = 8.
7 Tt( X) X , T(X)
n(2) =1,n(3) =2, m1(6) =3.

f( x) ., f(1) = 1.
a, f(a)z 0, (i) f(a)= f(1)f(a) . f(1)
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ad ,

1 fi(x), f.(x) , f( x)
f, () f. ()
f(1) = f.(1) (1) =1, f(x) (i) .
2 , (i)
flaa) = hi(aa) h(aa) = fi(a) i(a) .(a) (&)
= fi(a) (&) fi(&) (&) = f(a)f(a) .

F(x) (i),  f(x)
2 f( x) ; a

a= Ff’ll puzz [j’kk’

S =@+ fp)+ e+ + 1), (2

2 |

§ 4 3.2 ,a
F?ll &2 ﬁ(i(’Bi = 011121 1aili = 1121 ) k!

3 f(a) -ZBZ BZ f(p:pz  pe)

020 ;Of(&l)f(dZ) f( )

= u(f(pﬂ’) + f(p) + f(pi) + + f(p1)) .

f(p) = f(1) =1,
2 2
2.1 a= pp? ps a

11
“M
=~ H
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Zdzlfkll(1+ﬁ+p?+ +p);

S( a) a
S(a) = [ (+p+pir + @) =[] B
T(a) a ,
1(a) = (o, +1) (0 +1) (o +1) . (3)
t(a) ,(3) T (a)
1,2 3
2.2 f( x) ca= Fj'llp“zz Fik a

Zu(d)f(d) =@-f(p))A- f(p)) (1- f(p)) .
1 p(x) f(x) : 2,
Zau(d)f(d):[L(1+u(pi)f(pi)+

H(P) f(p) +  +u(p)f(p)),

u(p) = =p(p) =0,u(p)=-1(i=1,2,
k) .
1
2.2 f(x) =1,f(x) ==,
2.3 a= p'p2 psf a
0, a>1;
Zu(d)= (4)
a 1 a=1.
1 1 1
1--— 1-—= 1-— 1
)P e L bt ()
1, a=1
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3 61,62, ,6n n ) f(61)1
f(d.), , f(dn) n

S :Z f(5|), S = Zb f(&);

>, 1 5, >}

d d O

S =y u(d)s,
d,d, ,d 5,
2.3

S = 1‘(331)26 b(d) + f(5z)zb p(d) + 4+ f(5n)chJ(d) :

(6)
dk y 6i dk y (6)
H(dk)zé f(di) = p(d) S,
d., d, ,d O
() S u(d)S,, .u(d)S,
(6) , S:Zlu(dk)sdk.
8 3 5.
o« =(x,a),f(ds)=1,x=0,1, ,a-1,
3 S S = ¢ (a), S
d|( x, a) X d o., d]| a, S
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|_\

N

ol

(o2}

2,3

9(a) = al-

f(x)
S(a)

f( x)

. f(x)

f(x)

198 -

o(2) = 3 u(d)

aZa

1 4.

1
P P

§ 3 5.

F(x):;f(d)

T (a)

F(x) = ;Xf(d)

f( x)

Zacp(d) = a.

9(a) = Zaf(d),

f(a =31 g ol =3udg g

f(a) = 31 g o(d),

g(a) = Zaf(d) :

d |



7. F( x), G( x) : 1

[x]
X
G(x) = Z F T
-1
[X

F(X) = 5 u(mG -

n

8§82 T1(X)
T ( X) X : 84 4
X —» ,TI( X) - o0 . : Tt ( X)
£ , A A,
log x
X
llogx<n(x)<A2|ogx (x= 2)
(YebbliLLeB )
1 K 2 ,
p P(P < p) p-p =2 K.
K!+2=M, 2| M2+1|M+1, ,K|M+K
- 2, M >2M+1>3 M+ K-2> K, M,
M+1, , M+ K-2 .p M ;
¢ P p M+ K-2. p< M

p-g=(M+K-1)-(M-1) = K.

3,5, 5,7, 11,13; 17,19; 29,31; 41,43,
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[11 ” 2 ’
1 000 000 009 649, 1 000 000 009 651

p-p =2.

Tt( X)

m(x) = le.

_(2n) !
- (n!)z,
(rt(2n) - t(n))logn< logN < m(2n)log2n .

N

N = pqp
N , 8 5
Z 2n - n %% 2n n
a, = — -2 — = — -2 —
P -, P Zl p Zl p p
r o> log2n P >2n>n
log p
log2 n
log p
log2 n log2 n
< = <
DY 1= “logp = logp

logN = ;aplogps ; log2n = 1t(2n)log2n .

n
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log N > Z log p > Iognz2 1= (m(2n) - t(n))logn,

log N .
2 n, N 1,
nlog2 < logN < 2nlog2 .
N (1+ x)" X' ,

N< (1+1)" =2°".

N=2n(2n-1) (n+1)=22+ 1 2+n-l22
n! n-1 1
2 Xz 2
0.2—=—< m(x)< 5—=—.
log x log x
: - X X
(1) X=26 , n= 5 x22n,n>3.
1,2
m( x)logx= m(2n)log2n=> logN
> nlog2>|—ogg- x> 0.2x.
X 6
—_— e < <
log x [2.6] log6’ 2s X<

X 6
—< — < <
0.2|ng_ 0.2|Og6< 1< m(2) < m(x).
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(i) 1,2,
(rt(2n) - t(n))logn< logN < 2nlog2 .

n=2
r(m2”') - m(2")) < 2.
ne2"M) < 2,
(r+1)m(2™) - m2Y) < 2" +m(2"") < 3. 2",
m, r=0,1, ,m-1
m ;
m(2")< 3(1+2+ +2"7) <3x 2",
X= 2 m 2" '< x<2", L
m
< IogZ’
log x
m 1 m X X
< < —. . < L — < —
m(x) < m(2) < - 3- 2 < 6log2 log X = 5|ng,
im X - g
X o0 X
: (prime
number theorem) :
fim 55 =1
log X
(Gauss) : 1896
: (Hadamard) (de la

V alk e Poussin)
202 -



1949

(Selberg) (Erdos)
Tt ( X)
. XL
lix :I , Tog
X
log x’
| m(x) - lix |< Bxe A('ogx)smuogmgx)_”’
A B
| m(x) - lix|< Bx? |
€ B

(Riemann Hypothesis)
Z(s):zlﬁ, s=o+itg>1

¢ - .

" 12+ it

21

Pn n , . B, B
Binlogn< p.< B:nlogn .
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s 3

a-o T1(a)

a— T (a)

S 1)+ +T(a)

(Dirichlet)
8 1(3) a T(a) = 2.
A>0 a> A T(a) = 2.
T(2") = m+1, m-oo ,T(2") - o .
a ,T(a)
O:  f(x) , o 9(x) (
X , @ (X) )
A,
| 1(x) [= Ap(X)
X X - 00

f(x) = O(e(x)) .
1 d9nx= 0O(1), xsinx= O(Xx), ax + b= O( x) (
a, b ) .
O(e(x))
F(x), g(x) : A,
| 1(x) - 9(x) |s Ap(Xx)
X : , X o>
f(x) = g(x) + O(p(x)) .
. 204 -



1 1 1
2 X - 0 ,1_X.1—1+X+X2+OX3
Xx>1
1 1 1 1 1
=1+=+=+ = -,
1- x" X X X 1- x'
1 1
X > 2 < 23,
X (1- x) X
3 X - © )
1 1
stn—logx+y+0 v (1)

® 1 o 1

:Z[ tdt ZJ' tdt +Oi
,on(n+ 1) 4di on(n+t) X
1

I __wdt _ 1 |
on(n+t) n

[ 00

1 1 1 1 1
r,zmn(n-l)_nz+l n-1" n _N-9 %>




S I Al
Zlin-logx:y+0ix +OiX =y+OiX
4 g o< |, X - 0 (logx) # O((logx)’) .
x » o (logx) = O((logx)),
A,
(logx) < A(logx), (logx) ‘< A (2)
X : . X-> o0 logx -
o X >0  (logx) " - o, (2)
T (a)
1 3 :
1(a)# O((loga)’)
&
| -1< €& < |.
2,3, ,p I , (2-3 p)" = a,
§ 1(3)

T(a) = (m+1),
loga = mlog(2- 3 p) .

t(a) = Iog(zl-ogsa oy Pt Iog(zl-ogsa p)
1 |
09(2- 3 p) m - o ,loga - o , 4
T (a)
2 €
T(a) = O(4),
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€

a= 611622

ps a , § 1(3)
T(a o, +1 a,+1 ag+1l
(s) = lals ' 20(25 ktxlf (3)
a Py P P«
€ £ Q. G|+1
p = 2, > 21> a; +1, T
1.
p <2,
> T = €7 > aglog2 2 %(ai + 1)e log2,
a +1 2 1
5F = glog2 p<2 p <2, 3
le/
T(a)< 2 °
a ~ ¢€log2 ’
le/
2’ :
€log2 € a >0
€ ;
jim H2al = ¢
a-w g
€ =2n, n >0, 2,
1(a) _ 1 1(a) _ a1
a ~d 4 ~°73
3 D( x) =Zr(a),
D(x) = x(logx+2y -1) + O( x),
Y

T(a) ,

T(a) a



T (a) a= uv ,
,  D(x)

> 0,v>0,uvs X

9.3.1 ' R
O0< u,vs X, R
u> x,v>0,uvs X, R

u>0,v> X, uvs

R Rs 9.3.1
X
0< = X u
— X 2
D(x)—20<; 1 [ X]
[ X = ( x-0d) = x-20 x+2b =
X 1 X
Xy = .S
0< u< X u 0<; xu O<; X u
= X i+O( X)
0 < us xu
( {x} <1, 3
D(x) = 2x i—x+ O( x)
0 < us xu
=2xlog x+y + O — - x+ Of

208 -

uv = a



= X(logx +2y -1) + O( x).

Y
D(x) = x(logx +2y - 1) + O(X)
1
a : 3 vV < 5
?
15
VS46.
2 2
+ =
0Z(Xr(a), r( a) u Y a
r(a) U+ Vv = a
2 2
u+ v s X
4 X - 0
A(x) =tx + O( x) .
9.3.2
: A( x) u+ v
= X
A( X)

9.3.2

A(x) =

209 -



) .
A(x) s mi( x+ 2) (4)

X - 2

2

A(x)=zm( x- 2) . (5)
(4),(5)
m(-2 2 x+2)s A(x) -txsm(2 2 x+2),

| A(X) -tx | (2 2 x+2).

\Y

A(X) =mtx+ O(X)

a , 3 vs%. )
?
V>i \)—l
Z 7 =2
ve =2
< 10"
§ 4
(1) . § 4
) 4Am+3,6m+5
[ N=4plp2 p”-l(plipza ,pn 4m+

- 210 -



3 ) N=6pp p-1(p,p, ,pn 6m+5
) 8§ 4 4 N=pp p+1].

4m+3, m=0,1,2,
6m+ 5, m=20,1,2,

km+ |, m=20,1,2,
(k,)# 1 . (k,

: (x;k,1)
km+ 1, m=0,1,2, ,(k,I)=1,k>0,l=20 (1)

X ) . X - + o

m(x;k, 1) —~ i —-.

, : (1) p
(JTNHHKK ) C p< k.
(2) an” + bn+ c
kn+1,(k 1) =1 , ,
an’+ bn+c,(a, bc) =1

: n +1
0< n< 16 ,nz-n+17 : 0< n=< 40
n - n+41 . 0< n< 11000 n’
- n+ 72491 . N,

211 -



(3) 8 3

;o T(X)
X
@, n Pn v Pn
nlogn . : Pn-1 : Pn
? (Bertrand) n 2n :
, § 3 2 :
P 2pn-s - , n
(n+ l)2 ,
n N , n n+n®%E >0,
)
, 2 3 ,
3,5;5,7;11,13;17,19;29,
31; ;101,103;10 016 957,10 016 959; 2
57,11
( ) :

(Goldbach) 1742

(1) 4 n :
,6 =3+3,8=3+5,10=5+5=3+7,

(2) 9 n

,9=3+3+3,11=3+3+5,13=3+3+7=3+5+5,

: (Hardy) (Littlewood)

] n’
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p= 1(Q)
f( x) ,
(
k ) ,
(1) A.N.
(2) 1
K, kg ( )
n=p+ pg + gr+
P Ij y Xi, y X

p+ P

+ gxk,

(3)

n> , N
( ) n
(Renyi)
Y , P
1962
1973
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4 000

p 9 p g9 p g p 9 p 9 p 9 p 9
2 1 151 | 6 353 | 3 577 | 5 811 3111049 ( 3 || 1297 |10
3 2 157 | 5 359 | 7 587 | 2 821 211051 7 (f1301]2
5 2 163 | 2 367 | 6 593 | 3 823 31061 2 ([ 13036
7 3 167 | 5 373 | 2 599 | 7 827 2111063 | 3 || 1307 |2
11 2 173 | 2 379 | 2 601 | 7 829 2111069 | 6 (| 1319 |13
13 2 179 | 2 383 | 5 607 | 3 839 |11|]1087 | 3 || 1321 |13
17 3 181 | 2 389 | 2 613 | 2 853 2111091 | 2 || 1327 |3
19 2 191 (19 397 | 5 617 | 3 857 3111093 | 5| 13613
23 5 193 | 5 401 | 3 619 | 2 859 2111097 | 3 || 1367 |5
29 2 197 | 2 409 (21 631 | 3 863 5111103 5 || 1373]2
31 3 199 | 3 419 | 2 641 | 3 877 2111109 2 || 13812
37 2 211 | 2 421 | 2 643 | 11 881 311117 2 ([ 1399 |13
41 6 223 | 3 431 | 7 647 | 5 883 2111123 ] 2 || 1409 |3
43 3 227 | 2 433 | 5 653 | 2 887 51 1129 |11 || 1423 |3
47 5 229 | 6 439 | 15| 659 | 2 907 2 || 1151 |17 || 1427 |2
53 2 233 | 3 43 | 2 661 | 2 911 | 17| 1153 | 5 || 1429 |6
59 2 239 | 7 449 | 3 673 | 5 919 7 (1163 | 5 || 1433 |3
61 2 241 | 7 457 (13| 677 | 2 929 311171 2 || 1439 |7
67 2 251 | 6 461 | 2 683 | 5 937 5111181 7 || 1447 |3
71 7 257 | 3 463 | 3 691 | 3 941 211187 2 || 1451 |2
73 5 263 | 5 467 | 2 701 | 2 947 2111193 | 3 || 1453 |2
79 3 269 | 2 479 |13 || 709 | 2 953 3| 1201 |11 1459 |5
83 2 271 | 6 487 | 3 719 |11 967 5111213 ] 2 || 1471 |6
89 3 277 | 5 491 | 2 727 | 5 971 6 || 1217 | 3 || 1481 |3
97 5 281 | 3 499 | 7 733 | 6 977 311223 | 5 || 1483 |2
101 | 2 283 | 3 503 | 5 739 | 3 983 5111229 2 || 1487 |5
103 | 5 293 | 2 509 | 2 743 | 5 991 6 || 1231 | 3 || 1489 (14
107 | 2 307 | 5 521 | 3 751 | 3 997 7 (|1237 | 2 || 1493 |2
109 | 6 311 |17 || 523 | 2 757 | 2 ||1009 | 1111249 7 || 1499 |2
113 | 3 313 |10 || 541 | 2 761 | 6 || 1013 | 3 ||1259 ] 2 || 1511 |11
127 | 3 317 | 2 547 | 2 769 |11 11019 | 2 ||1277 | 2 || 1523 |2
131 | 2 331 | 3 557 | 2 773 | 2 ||1021 |10 1279 | 3 || 1531 |2
137 | 3 337 |10 || 563 | 2 787 | 2 || 1031 |14 1283 | 2 || 1543 |5
139 | 2 347 | 2 569 | 3 797 | 2 ||1033 | 5|1 1289( 6 || 1549 |2
149 | 2 349 | 2 571 | 3 809 | 3 11039 | 3 1291 2 || 15533
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p g p g p g p 9 p 9 p g p g
155919 ||1901| 2 ||2267| 2 ||2621| 2 || 2957 | 2 || 3343 | 5 || 3697 |5
1567 3 [|1907| 2 ||2269| 2 ||2633| 3 |[2963 | 2 ||3347 | 2 || 37012
1571 2 ||11913( 3 ||2273| 3 ||2647| 3 || 299 | 3 || 3359 |11 3709 |2
1579 3 ||1931 2 ([2281) 7 ||2657( 3 |[2971 |10 3361 |22 3719 |7
1583| 5 ||1933| 5 ([2287]|19|12659( 2 |[ 2999 |17 || 3371 | 2 || 3727 |3
159711 |)11949( 2 ([2293] 2 ||2663| 5 |[ 3001 |14] 3373 | 5| 3733 |2
1601 3 ||1951( 3 (2297 5 ||2671( 7 |[3011 | 2 || 3389 | 3 ||3739|7
1607 5 ||1973| 2 ||2309| 2 ||2677| 2 ||3019 | 2 (]3391| 3 || 3761 |3
1609 7 11979 2 ||2311| 3 ||2683| 2 || 3023 | 5 || 3407 | 5 || 3767 |5
1613 3 ||1987| 2 ||2333| 2 ||2687| 5 |[3037 | 2 ||3413 | 2 ||3769 |7
1619 2 ||1993| 5 ||2339| 2 ||2689|19|[ 3041 | 3 || 3433 | 5 ||3779|2
1621 2 ||1997| 2 |[2341) 7 ||2693| 2 |[ 3049 | 11| 3449 | 3 || 3793 |5
1627 3 ||1999( 3 ([2347) 3 ||2699( 2 |[3061 | 6 || 3457 | 7 || 3797 |2
1637 2 ||2003( 5 ([2351|13||2 707 2 |[ 3067 | 2 || 3461 | 2 || 3803 (2
165711 ||2011| 3 |[2357| 2 ||2 711 7 |[3079 | 6 || 3463 | 3 || 3821 |3
1663 3 ||2017| 5 ||2371| 2 (|2 713| 5 || 3083 | 2 || 3467 | 2 || 3823 |3
1667 2 ||2027| 2 ||2377| 5 ||2719| 3 || 3089 | 3 ||]3469 | 2 || 38333
1669 2 ||2029( 2 ||2381| 3 ||2729| 3 || 3109 | 6 || 3491 | 2 || 3847 |5
1693 2 ||2039 7 ||2383| 5 ||2731| 3 |[3 119 | 7 || 3499 | 2 || 3851 |2
1697 3 ||2053| 2 ||2389| 2 ||2741| 2 |[3 121 | 7 || 3511 | 7 || 3853 |2
1699| 3 ||2063| 5 |[2393]| 3 ||2 749 6 |[ 3137 | 3 || 3517 | 2 || 3863 |5
1709 3 ||2069( 2 ([2399| 11|12 753 3 |[ 3163 | 3 || 3527 | 5 || 3877 |2
1721 3 ||2081| 3 ([2411)| 6 ||2 767 3 || 3167 | 5 || 3529 | 17| 3 881 |13
17231 3 ||2083( 2 ([2417| 3 ||12 777 3 |[ 3169 | 7 || 3533 | 2 || 3889 |11
1733 2 ||2087| 5 ||2423| 5 ||2789| 2 |[ 3181 | 7 || 3539 | 2 || 3907 |2
1741 2 |2089( 7 ||2437| 2 (|2 791 6 || 3187 | 2 || 3541 | 7 || 3911 (13
1747 2 |2099( 2 ||2441| 6 ||2 797 2 || 3191 | 11| 3547 | 2 || 3917 |2
1753 7 ||2111| 7 ||2447| 5 ||2801| 3 || 3203 | 2 || 3557 | 2 || 3919 (3
1759 6 ||2113| 5 ([2459] 2 ||2803| 2 |[ 3209 | 3 || 3559 | 3 || 39232
17771 5 ||2129( 3 |[2467| 2 ||2819( 2 |[ 3217 | 5 || 3571 | 2 || 3929 (3
1783)10 )1 2131 2 (2473 5 ||2833( 5 |[ 3221 |10 3581 | 2 || 39312
1787 2 ||2137(10(|12477| 2 ||2837| 2 || 3229 | 6 || 3583 | 3 || 3943 (3
1789 6 [|2141| 2 ||2503| 3 ||2843| 2 |[ 3251 | 6 || 3593 | 3 || 3947 |2
1801| 11 ||2143| 3 ||2521|17(]2851| 2 || 3253 | 2 || 3607 | 5| 3967 |6
1811 6 ||2153| 3 ||2531| 2 ||2857|11|[ 3257 | 3 ||3613 | 2 || 3989 |2
1823| 5 ||2161(23([2539]| 2 ||]281| 2 [[ 3259 | 3 || 3617 | 3
1831 3 ||2179( 7 |[2543]| 5 ||2879| 7 || 3271 ]| 3 || 3623 | 5
1847 5 ||2203| 5 |[2549] 2 ||12887( 5 [[ 3299 | 2 || 3631 |21
1861 2 ||2207( 5 |[2551) 6 ||]2897| 3 || 3301 ]| 6 || 3637 | 2
1867 2 ||2213| 2 |[2557] 2 |]2903| 5 || 3307 | 2 || 3643 | 2
1871 14 ||2221| 2 ||2579| 2 [|2909]| 2 || 3313 |10} 3659 | 2
187310 ||2237( 2 ||2591| 7 [|2917| 5 || 3319 | 6 || 3671 | 13
1877 2 ||2239 3 ||2593| 7 ||2927]| 5 |[ 3323 | 2 || 3673 | 5
1879 6 ||2243| 2 ||2609| 3 [|2939]| 2 || 3329 | 3 || 3677 | 2
18891 3 12251 7 {[2617]1 5 112 953[13 ] 3331 | 3 || 3691 | 2
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